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FOREWORD

This issue of the PATHFINDER is published principally, in response to a growing demand for an aid to:

(i)
Candidates preparing to write future examinations of the Institute of Chartered Accountants of Nigeria (ICAN).

(ii)
Unsuccessful candidates in the identification of those areas in which they lost marks and need to improve their knowledge and presentation.

(iii)
Lecturers and students interested in acquisition of knowledge in the relevant subjects contained herein, and

(iv)
The profession in improving pre-examinations and screening processes, and so the professional performance of candidates.

The answers provided in this publication do not exhaust all possible alternative approaches to solving the questions.  Efforts have been made to use the methods which will save much of the scarce examination time.  Also, in order to facilitate teaching, questions may be altered slightly so that some principles or application of them may be more clearly demonstrated.

It is hoped that the suggested answers will prove to be of tremendous assistance to students and those who assist them in their preparations for the Institute’s Examinations.
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EXAMINATION NO………………………
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COSTING AND QUANTITATIVE TECHNIQUES

Time allowed – 3 hours

SECTION A:    Attempt all questions       
pART I:              MUTIPLE choice questions                              (20 marks)

1.
Which of the items listed below is NOT an example of distribution overheads?

A. Upkeep and running of delivery vans 

B. Samples and displays

C. Warehouse wages and salaries

D. Packing cases

E. Loading expenses

2.
Wages are paid at an agreed rate per hour, day or week without reference to work done in the following circumstances EXCEPT

A. factory operatives’ work.
B. general labourers’ work.
C. supervisors and inspectors’ work.
D. where supervision is close. 


E.
where measurement of work would not be simple.
3.
Which of the under-listed factors is NOT considered in computing Economic Order Quantity (EOQ)?

A. Reorder level

B. Annual demand

C. Cost of holding stock

D. Cost of ordering


E.
Storage facility

4.
The factor which causes cost to be incurred on an activity is known as   

A. labour. 

B. direct costs.
C. overhead.
D. material.

E.
cost driver.
5.
Over-absorption of overheads occurs where

A. absorbed overheads exceed budgeted overheads.
B. actual overheads exceed absorbed overheads.
C. budgeted overheads exceed absorbed overheads.
D. absorbed overheads exceed actual overheads.

E.
over-absorbed overheads exceed budgeted overheads.
6.
In marginal costing techniques, breakeven point is the level of activity where contribution is equal to

A. profit plus tax.
B. fixed cost plus profit.
C. gross profit.
D. fixed cost only.
E. variable cost plus fixed cost.
7.
In the accounts of a process costing system, scraps would be charged to

A. cost centre. 

B. abnormal loss account.
C. profit and loss account.
D. production control.

E.
product/job

8.
Which of the following is NOT a technique used in cost estimate?

A.
High and low method


B.
Periodical estimation


C.
Account classification method


D.
Regression analysis


E.
Scatter graph

9.
Damie Limited manufactures a single product, “Yeti”.  Budgeted production output of product “Yeti” during September is 200 units.  Each unit of product “Yeti” requires 6 labour hours for completion.  Labour is paid at a rate of N7 per hour.  The direct labour cost budget for September is  
A. N8,400.
B. N10,400.
C. N10,300.
D. N6,720.
E.
N8,720. 

10.
A company’s breakeven point is 6,000 units per annum.  The selling price is N90 per unit and the variable cost is N40 per unit.  What is the company’s annual fixed costs?

A. N 100,000

B. N   20,000

C. N 300,000

D. N 240,000


E.
N 480,000

Use the information below to answer questions 11 and 12.

An enterprise uses a raw material called “Temie”. Movements in “Temie” for the month of August are set out below:

	
	Goods received
	Issued to Production

	Date
	Kilos 
	Price/Kilo
	Date
	Kilos

	August 12
	4,000
	N5.00
	August 15
	3,900

	August 19
	1,200
	N6.00
	August 21
	1,100

	August 24
	2,800
	N7.50
	
	


There were no stocks of “Temie” held at August 1.

11.
What would be the stock valuation at August 31 on a FIFO basis? (state your answer to the nearest N)

A. N15,000

B. N18,000

C. N22,200
D. N22,500


E.
N18,200

12.
What would be the closing stock valuation at 31 August on a weighted average cost basis to the nearest whole number?

A. N18,075

B. N18,500

C. N22,046 

D. N22,185

E. N22,333  

13.
The table below shows the distribution of university graduates and non-university graduates who are chartered accountants and those who are not.


	
	University graduates
	Non-university graduates

	Chartered Accountants
	14
	12

	Non-chartered Accountants
	8
	6


The probability that a non-university graduate is a chartered accountant is


A.
0.35.

B.
0.46.

C.
0.30.

D.
0.67.

E.
0.64.
14.
Find the simple aggregate price index for 2008 with 2007 as the base year using the tabulated data below:

	Commodity
	2007 price (N)
	2008 Price (N)

	Corn
	26
	38.7

	Guinea Corn
	18
	29.6

	Millet
	20
	30.4



A.
254.2%


B.
154.2%


C.
155.0%


D.
65.0%


E.
64.8%


15.
The  
determinant of the matrix  [image: image2.png]


   is.........hence it is a ..........matrix     


A.
zero, singular


B.
zero, null


C.
singular, Zero


D.
zero, 2×2


E.
positive, 2 ×2

16.
If the revenue function of a product is given by R = 3[image: image4.png](x*+ 5x)



, then the marginal revenue when 5 units of product are sold is

A. 
N15.
B. 
N40.


C. 
N35.


D. 
N45.


E. 
N30.
17.
In a certain organisation of 300 employees, 160 are female, 90 are lazy and 70 are lazy female employees.  The number of hardworking male employees is


A.
140.

B.
210.

C.
120.

D.
160.

E.
20.
18.
A task within the project network that has defined beginning and ending times is called


A.
event.

B.
node.

C.
network.

D.
activity.

E.
critical.
19.
The conversion of the original given problem of linear programming to the form that is amenable to algebraic computation and manipulation is known as


A. 
canonical form.

B. 
dual form.

C. 
objective form.

D. 
simplex form.

E. 
standard form.

20.
In a typical transportation problem with supply capacities S1 = 240, S2 =140, S3 =120, S4=160 and demand capacities d1 = 240, d2 = 180, d3 =220 and           d4 = 140.  Determine the dummy capacity to be added to the source (supply) or destination (demand).


A.  
120 (source)


B. 
120 (destination)


C. 
140 (source)



D. 
140 (destination)



E.
130 (source)

Part II:       SHORT ANSWER QUESTIONS                                      (20 Marks)

1. The intentional over-estimation of expenses and/or under-estimation of revenue in the budgeting process is called ……………

2. What method of accounting can be adopted, under external reporting, that will make the marginal costing versus absorption costing debate irrelevant? 

3. The costing system which standardizes costing methods and procedures over a group of factories and regional service centres is known as………………… 

4. A series of alphabetical and/or numerical symbols, each of which represents a descriptive title, in cost classification is known as………………….. 

5. Obtaining information and conforming to plans through action and evaluation is known as ………….

6. A budget which, by recognising the difference between fixed, semi-fixed and variable costs, is designed to change in relation to the level of activity attained is called ……………………..

7. Spoilage that should not arise under efficient operating conditions is known as……………………………

8. Storekeeping costs can be apportioned on the basis of ……………………………..

9. A computerized information planning and control system which has the objective of maintaining a smooth production flow is called………………....….. 

10. A company’s basic rate is N48.00 per hour and overtime rates are time and a half for evenings and double for weekends. Compute the salary of a worker who clocked 176 hours normal time, 44 hours for evenings and 48 hours for weekends.

11.  The actual overheads incurred in a period was N631,200 at direct labour hours of 792.  If the overhead absorption rate is N750/hour.  Calculate the under/over absorbed overhead.
12. What will be the actual profit if budgeted profit is N1,500,000, total adverse variances is N1,220,000, and total favourable variances is N420,000?
  13.
If P and Q are two events and P(PnQ)=0, then P and Q are said to be .……………………….

14.
An index value is said to increase if the ……............index value is more than the 

        ………………………..period value.
  15.
If all the elements of each row of a matrix A are equal to the corresponding elements of each column of matrix B, then matrix A is the ……………………of matrix B.
16.
The second derivative of a profit function at a turning point is used to determine if the 
profit is………………. or ……………………….

17.  Stepping stone is a method of obtaining ………...allocation in a typical 

       transportation problem.
18.
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In the diagram above, C represents .......................... and should not have any ............................
   19.  Simplex method is applied in linear programming to problems involving at least 





  …………..decision variables


   20.  If matrix A =  [image: image6.png]


   and B =   [image: image8.png]


  , then the matrix ATB is…………   

SECTION B       ATTEMPT ANY FOUR QUESTIONS OUT OF WHICH AT LEAST 



     TWO MUST COME FROM EACH SUBSECTION          (60 Marks)

SUB-SECTION 1:
COST ACCOUNTING  
  ATTEMPT ANY TWO QUESTIONS

QUESTION 1

a.
(i)
List any SIX bases of overhead absorption   

                (3 marks)


(ii)
Explain the following TWO methods that are mostly used in practice:

· Direct Labour hour basis

· Machine hour basis. 





        (3 marks)  

b.   
Blackhold Company Limited has service departments namely, maintenance (Q) and stores (R) and three production departments (P1, P2, P3). The service department provides service for each other as well as for the production department. It has been agreed that the most appropriate basis of apportionment for the service department costs are capital equipment values for maintenance and number of requisition for stores. 


The overhead applicable to each department following allocation and primary apportionment are:





            

	Department
	Overhead

	
	N

	Q
	136,000

	R
	54,000

	P1
	240,000

	P2
	390,000

	P3
	520,000

	
	1,340,000



Data for apportionment of service department overheads.

	
	Q
	R
	P1
	P2
	P3

	
	N
	N
	N
	N
	N

	Capital values
	30,000
	200,000
	1,000,000
	1,520,000
	1,280,000

	Proportion 
	-
	5%
	25%
	38%
	32%

	No of requisition
	900
	-
	2,400
	1,620
	1,080

	Proportion
	15%
	-
	40%
	27%
	18%


Required:      

(i) Apportion the TWO service department’s overheads, using elimination method. 












     (5 marks) 

(ii) State THREE methods of apportionment of the service departments’ cost to production departments. 




                           (2 marks)

   (iii)      Describe briefly the method you have used in (i) above.                    (2 marks)











     (Total 15 marks)

QUESTION 2


(a)
Briefly explain the following documents relating to stores accounting.

(i) Materials requisition. 

(ii) Materials transfer note.
(iii) Purchase requisition.





                  (3 marks)
(b)
The following information was extracted from the accounts of a company for the year ended 31 December 2010.

	
	N’000

	Opening stock
	9,000

	Purchases
	78,000

	Closing stock
	15,000


Required:
Calculate the stock turnover rate for the year.      


      (3 marks)

(c)
The following information has been anticipated with regards to material Y:

	Maximum anticipated monthly usage
	36,000 sets

	Normal monthly usage
	24,000 sets

	Minimum anticipated monthly usage
	18,000 sets

	Delivery period from suppliers
	1-3 months

	Maximum stock level
	216,000 sets


Required:

Calculate the:

(i) Re-order level.

(ii) Minimum level.

(iii) Re-order quantity.





               (9 marks)

     (Total 15 marks)
QUESTION 3

(a) Briefly explain the following terms:

(i)      Process costing.





                 (1 mark)

(ii)      Normal process loss.





       (1 mark)

(iii) Abnormal process gain
.



      
       (1 mark)

(b) Clement Nigeria Limited produces a single product which undergoes three 


processes.  The following details relate to period X.

	Process
	I
	II
	III

	
	N
	N
	N

	Raw materials (60,000 units)
	1,600,000
	
	

	Material introduced
	470,000
	374,000
	442,000

	Direct wages
	312,000
	240,000
	268,000

	Overhead allotted to processes
	76,000
	92,000
	64,000

	
	
	
	

	Other overhead 
	540,000
	
	

	
	
	
	

	
	Units
	Units
	Units

	Output in units
	55,200
	53,800
	49,600


A normal loss of 5% of the input to each process is anticipated.  Units lost have the following scrap values:
	
	N

	After process I
	-

	After process II
	20 per unit

	After process III
	36 per unit


There is no opening work in progress or closing work in progress.
Required:
Prepare the process account for the three processes. (show all workings)

         









    (12 marks)
   (Total 15 marks)

QUESTION 4

Ramipat Limited uses a budgeting system to control the costs of its only product called

Efon. The cost accountant for Ramipat Limited has asked for your assistance in producing the budget for the year ending December 2009.  He has provided you with 

the following information:

(i) The standard cost card for Efon for the immediately preceding year ended 31 December 2008 is as follows:
	
	N

	Selling price
	250

	Direct material (4kg at N8.00/kg)
	(32)

	Direct labour (6 hours at N15/hr)
	(90)

	Contribution
	128


(ii)      Ramipat Limited uses an additive time series analysis to forecast sales volume.  The trend in sales for 2008 and forecast seasonal variations for 2009 are as stated below:

	Quarter
	1
	2
	3
	4

	Trend (sales units) 
	1,200
	1,300
	1,400
	1,500

	Seasonal variation
	
	
	
	

	(sales units)
	-150
	200
	300
	-350


(iii) The sales trend figures for the first two quarters of 2009 are estimated at 1,600 and 1,700units respectively.  Quarterly seasonal variations are expected to be as for 2008.
(iv) It is the policy of Rampat Limited to always carry sufficient inventory of finished goods to meet 50% of the next quarter’s forecast sales, and sufficient raw materials to meet 80% of the next quarter’s production. 
Required:

Prepare the following budgets for each of the four quarters of the year ending 31 December 2009.

(a)
Sales budget, showing units and sales value.


      (3 marks)

(b)
Production budget in units showing opening inventory, production and 


closing inventory. 






      (8 marks)

(c)
Labour budget in hours and cost.



                (4 marks)

     (Total 15 marks)
SUB-SECTION II:
QUANTITATIVE TECHNIQUES  
ATTEMPT ANY TWO QUESTIONS

QUESTION 5

The table below shows the retail prices and sales of six household items for the months of January and December of a particular year in a supermarket.

	
	JANUARY
	DECEMBER

	HOUSEHOLD ITEM
	PRICE ( IN N  PER UNIT)
	QUANTITY  
	PRICE  (IN N PER UNIT)
	QUANTITY 

	Bread
	150
	100
	165
	120

	Butter
	250
	70
	255
	80

	Corn Flakes
	350
	82
	380
	90

	Custard
	220
	74
	250
	85

	Beverages
	300
	60
	320
	95

	Wine
	420
	45
	400
	72


You are required to use the month of January as the base month to determine:

(a) 
The Laspeyre’s price index. 





      (4 marks)

(b) 
The Paasche’s price index.






      (4 marks)

(c)
The Fisher’s price index.





                (3 marks)

(d)
The Marshall and Edgeworth’s price index.



      (4 marks)










     (Total 15 marks)

QUESTION 6

In an external examination conducted by a professional body in Nigeria, the data show 

that 60 candidates registered for Costing and Quantitative Techniques (CQT), 75 registered for Management Accounting (MA), while 80 registered for Financial accounting (FA), 25 candidates registered for both CQT and MA, and 20 registered for CQT and FA, 30 registered for FA and MA while 27 registered for CQT only.

Required:

(a) 
Represent the above information in Euler-venn diagram.

      (5 marks)

(b)
 Find the number of candidates who registered for:                                                                              

(i) All the three subjects.





      (2 marks)

(ii) Management Accounting and Financial Accounting only.
      (2 marks)

(iii) Management Accounting only.




      (2 marks)

(iv) At least one of the subjects
.




      (4 marks)









                (Total 15 marks)

QUESTION 7

The table below shows the three time estimates, in weeks, for each of the eight activities of an electrical networking.

	ACTIVITY
	MOST LIKELY
	OPTIMISTIC
	PESSIMISTIC

	1-2
	6
	4
	9

	1-3
	5
	5
	7

	1-4
	8
	5
	18

	2-5
	8
	7
	13

	3-5
	5
	4
	4

	3-6
	4
	4
	2

	4-6
	12
	6
	21

	5-6
	16
	14
	21


Required:

(a)
Calculate the expected duration for each of the activities listed in the table correct to one decimal place. 





      (5 marks)

(b)     
Draw activity–on-arrow network diagram showing all expected activity

durations. 








      (4 marks)

(c)
Identify:

(i) all possible paths in (b) above and their corresponding durations.  

      








        (4 marks)


(ii)
the critical path and determine the minimum duration to complete the 



networking.







      (2 marks)




 






     (Total 15 marks)

SOLUTIONS TO SECTION A

PART I   MULTIPLE CHOICE QUESTIONS

1.
b



2.
a



3.
E



4.
E



5.
D



6.
D



7.
c



8.
B

9.
A

10.
C

11.
c

12.
A

13.
C

14.
B

15.
A

16.
D

17.
C

18.
D

19.
E

20.
A

WORKINGS

9.     Units to produce


200 units





        Labour hrs/unit


       6

        Total labour hrs needed


1200 units

        Labour hourly rate



     N7

        Labour budget



     N8400


10.
BEP (Units)


= 
Fixed Costs







Contribution/Unit


6000 units


=
    X

90 – 40

X



=
6,000 (N50)






=
300,000
11.


	Date 

	Receipts
	Issues
	Balance

	
	Qty
	Price

N
	Value

N
	Qty
	Price

N
	Value

N
	Qty
	Price

N
	Value

N

	12/8
	4,000
	5
	20,000
	
	
	
	4,000
	5
	20,000

	15/8
	
	
	
	3,900
	@5
	19,500
	100
	5
	500

	19/8
	1,200
	6
	7,200
	
	
	
	1,300
	
	7,700

	21/8
	
	
	
	100
	@5
	500
	200
	6
	1,200

	
	
	
	
	1,000
	@6
	6,000
	
	
	


12.

	Date
	Receipts
	Issues
	Balance

	
	Qty
	Price

N
	Value

N
	Qty
	Price

N
	Value

N
	Qty
	Price

N
	Value

N

	12/8
	4,000
	5
	
	
	
	
	4,000
	6.025
	24,100

	15/8
	
	
	
	3,900
	6.025
	23,497.5
	100
	6.025
	6.025

	19/8
	1,200
	6
	7,200
	
	
	
	1,300
	6.025
	7,832.5

	21/8
	
	
	
	1,100
	6.025
	6,627.5
	200
	6.025
	1,205

	24/8
	2,800
	7.5
	21,000
	
	
	
	3,000
	6.025
	18,075


Weighted Average
=
(4000 X 5) + (1200 X 6) + (2800 X 7.5)





              4000 + 1200 + 2800





=
48200

=
6.025






 8000

13.
No. of non-university graduates 
= 
12


Total no 



= 
40


:. 
Reqd prob.


=
12










40
=
0.30
(C)

14.
Simple Agg. Price Index

=
38.7 + 29.6 + 30.4 

x    100







    26 + 18 + 20







=
98.7
X 100









  64







=
154.2%

15.
 - 2
1
=  - 6 + 6 =  0

           - 6
3

16.
R =
3(X2+ 5x) = 3X2 + 15x


MR = dR            =   6x + 15



4x


When X = 5, MR = 30 + 15 
=
N45 (D)

20.
Source total 

=
240 + 140 + 120 + 160
=
660

 
Destination
total
=
240 + 180 + 220 + 140 
= 
780


:. Dummy

=
780 – 660


=
120 (source)

EXAMINERS’ REPORT

Questions cover a good proportion of the syllabus.

All the candidates attempted this part of the paper.

Performance was below average as about 40% of the candidates scored 50% and above.

Major pitfalls noticed are as follows:

i) Lack of sufficient understanding of the question

ii) Misinterpretation of the requirement of some of the questions

iii) Important formulae could not be recollected to solve mathematical problems

Candidates are advised to:

i) Spend more time for the preparation of an examination of this magnitude 

ii) Obtain good quality tuition 

iii) Use the right texts
PART II   SHORT-ANSWER QUESTIONS 





                  





1. budget slack

2. current cost accounting

3. uniform costing

4. cost code

5. controlling

6. flexible budget 

7. abnormal wastage or abnormal loss

8. store requisitions or store issue notes

9. material requirement planning

10. N16,224.00

11. N37,200.00

12. N700,000.00
13. mutually exclusive

14. current, base (in that order)

15. transpose

16. minimum, maximum

17.
optimum

18.
dummy activity, duration (in that order)

19.
two (2)

20.
   10
 8

              23
28

              21
36

WORKINGS

10.
(176 x N48.00) + (44 x N48.00 x 1½) + (48 x N48.00 x 2)
=
N8,448 + N3,168 + N4,608

=
N16,224

11.
Actual overhead
-
Overhead absorbed


N631.200

-
(792 X N750.00)

12.

Budgeted Profit
 N1,500,000




Less: 
Adverse variances
(N1,220,000)






   N280,000


Add:
Favourable variances
N420,000



Actual profit


N700,000


20.
At
=
2
0




4
1




3
2


ATB
=
2
0
5
4

10
8




4
1
  3
12
=
23
28




3
2



21
36

EXAMINERS’ REPORT

The questions are designed to cover a broad spectrum of the entire syllabus.

Candidates’ performance was below average.

It is evident that most of the candidates did not prepare well for this section of the paper.

Candidates are therefore enjoined to invest in the right texts which should include the Institute’s Study Packs.

SOLUTIONS TO SECITON B

QUESTION 1

a(i).
Overhead absorption methods include:

· Direct hour basis.



· Machine hour basis.


· Direct Wages.


 

· Direct Material.



· Prime Cost.

· Cost Unit.

· Sales Volume.

· Sales Revenue.

· Number of Transactions.

· Number of participants.

· Direct Labour Hour Basis

This is easy to use and most appropriate in a labour intensive cost centre, provided the booking system is good.  However, most production nowadays involve substantial use of machinery, while the labour hour method is becoming increasingly inappropriate.  

· Machine Hour Basis

This is very popular in a mechanized cost centre:  In such a cost centre many of the overheads are related to the machinery (power, repairs, depreciation e.t.c.).  This is based on the amount of machine hours consumed for production.  

b.(i)
	
	Q
	R
	P1
	P2
	P3
	

	Capital Values
	N30,000
	N200,000
	N1,000,000
	N1,520,000
	N1,280,000
	

	Proportion 
	-
	5%
	25%
	38%
	32%
	

	No. of Requisitions.
	900
	-
	2400
	1620
	1080
	

	Proportion
	15%
	-
	40%
	27%
	18%
	

	
	Q
	R
	P1
	P2
	P3
	

	
	N
	N
	N
	N
	N
	   TOTAL

	Original allotment
	136,000
	54,000
	240,000
	390,000
	520,000
	

	Apportion total Q (i.e.   N136,000) 
	(136,000)
	6,800
	34,000
	51,680
	43,520
	

	R(54,000 + 6800)
	
	(60,800)
	28,612
	19,313
	12,875
	

	
	-
	-
	302,612
	460,993
	576,395
	N1,340,000


ii.
Three methods of apportionment of the service departments’ cost to production departments are

· Continuous apportionment method  

· One elimination method 

· Simultaneous equation (algebraic method)

iii.
The elimination method apportions in turn the service department costs to users.  Once a service department costs have been apportioned the department is eliminated from further apportionments.  This means that return charges i.e. the cost effect of reciprocal servicing are ignored.  The sequence in which the department is eliminated can be related to either the amounts involved or the number of the departments serviced. 

EXAMINERS’ REPORT

The question tests candidates’ understanding and mastery of the requirements of absorption costing.

Topic was less fairly popular as only about 40% of the entire candidates attempted this question.

Performance was very poor.  About 10% of the candidates who attempted the question scored 50% and above.

Major pitfalls may be described as follows:

i) Many candidates confused identification of overheads with bases of apportioning overheads.

ii) The Elimination Method of apportioning overheads was not understood as candidates used the equation and continuous methods of overhead apportionment.

iii) Lack of understanding of the demand of the question.

It is recommended that

i) candidates should familiarize themselves with the right and most appropriate texts.

ii) obtain good quality tuition.
iii) spend more quality time on preparation.
QUESTION 2






a.       i.
Material Requisition:  This is an authorization to or demand on the storekeeper to issue raw materials, finished parts or other material from the stores.  The foreman or other higher officer in the case of larger quantity of materials usually signs it.

ii.
Material Transfer Note:  This form is used to cover the transfer of materials from one job to another and from one department to another, otherwise, the cost will be wrongly charged.

iii.
Purchase Requisition:   This illustrates the request for purchase of materials into the stores or for jobs.  It is priced by the cost office, according to one of the methods agreed and posted to the credit of the stores ledger.
  

2b.
Calculation of stock turnover






Cost of Goods sold

Average stock

Cost of goods sold 

=
N9,000,000 + N78,000,000 – N15,000,000





=
N72,000,000

Average Stock

=
(N9,000,000 + N15,000,000)/2





=
N12,000,000

Stock Turnover

=
72,000,000






12,000,000





=
6 times

2ci.
Re-order level

=
maximum usage X maximum re-order period







36,000 X 3






=
108,000 sets

   ii.
Minimum stock level
=
Reorder level – (average usage X average 

re-order period)






=
108,000 sets – (27,000 X 2)






=
108,000 sets – 54,000 sets






=
54,000 units

    iii.
Re-order Quantity

=
maximum stock level – Re-order level + (min. 







usage X min. re-order period)






=
216,000 – 108,000 + (18,000 X 1)






=
90,000 units

EXAMINERS’ REPORT

This question tests candidates’ understanding of store documents, documentation and procedure.

Topic was famous among the candidates.  About 95% of the entire candidates attempted the question.

Performance was good as about 50% of the candidates who attempted the question scored 50% and above.

It is recommended that presentation by candidates should be improved upon as to earn more marks in future examinations.

QUESTION 3

i.
Process costing is a form of operation costing used where production follows a series of sequential processes.  It is used in a variety of industries including, oil refining, food processing, paper making, chemical and drug manufacturing, paint and varnish manufacture.

ii.
Normal Process Loss is an unavoidable loss arising from the nature of production process.  The cost of such losses is included as part of the cost of good production.  If any value can be recouped from the sale of imperfect articles or materials then this would be credited to the process account, thus reducing the overall cost. 

iii.
Abnormal Process Gain is the extent to which the actual loss is less than the normal loss.  This occurs where the actual output is greater than the expected output.  The treatment is usually by transferring the balance on this account to the profit and loss account. 

PROCESS 1

	
	Unit
	N
	
	Unit
	N

	Raw materials
	60,000
	   1,600,000
	Normal Loss
	  3,000
	-

	Material Introduced
	
	470,000
	Abnormal Loss
	1,800
	94,674

	Direct Wages
	
	321,000
	Output to process 2
	55,200
	2,903,326

	Overhead Allotted
	
	76,000
	
	
	

	Other Overhead
	
	540,000
	
	
	

	
	60,000
	2,998,000
	
	60,000
	2,998,000



Notes


Input


60,000 units


Normal Loss
 
  3,000

Notional Output
57,000


Actual Output
55,200




  1,800


Abnormal Loss is valued on the same basis as good production.

Actual Cost – Expected Scrap Credit

Notional Output

2,998,000
=
52.6 per unit



 

   57,000

PROCESS 2

	
	Units
	N
	
	Units
	N

	Material Introduced
	
	374,000
	Normal Loss
	2,760
	55,200

	Direct Wages
	
	240,000
	Output to process 2
	53,800
	3,646,326

	Overhead Allotted
	
	92,000
	
	
	

	Transferred from Process 1
	55,200
	2,903,326
	
	
	

	Abnormal Gain
	1,360
	92,200
	
	
	

	
	56,560
	3,701,526
	
	56,560
	3,701,526



Input



55,200 units


Normal Loss 5% 

  2,760

Notional Output

52,440


Actual Output

53,800

Abnormal Gain

  1,360


Abnormal gain is valued on the same basis as good production.





Actual Cost – Expected Scrap Credit

Notional Output



3,609,326 – 55,200

N67.78 per unit




52,440


                                            PROCESS 3

	
	Units
	N
	
	Units
	N

	Material Introduced
	
	 442,000
	Normal Loss
	  2,960
	96,840

	Direct Wages
	
	268,000
	Abnormal Loss
	1,510
	127,734

	Overhead Allotted
	
	64,000
	Output to process 2
	49,600
	4,195,752

	Transferred from Process 2
	53,800
	3,646,326
	
	
	

	
	53,800
	4,420,326
	
	
	4,420,326



Notes


Input


53,800 units


Normal Loss
 
  2,690

Notional Output
51,110


Actual Output
49,600




  1,510

QUESTION 3

The question tests candidates’ understanding of process costing accounting and methodology.

About 95% of the candidates attempted the question, and performance was good.  About 60% of the candidates who attempted the question scored 50% and above.
Candidates are advised to keep up this impressive performance in future.
QUESTION 4

RAMIPAT LIMITED

a.
Year 
Ending 
31/12/2009


	Sales Budget For Year Ending 31/12/2009

	Quarter
	1
	2
	3
	4
	

	Forecast Trend
	1600
	1700
	1800
	1900
	

	Seasonal Variation
	-150
	      +200
	+300
	-350
	

	Forecast Sales (Units)
	    1450
	      1900
	        2100
	   1550
	


Sales Value (N250/unit) (N) 362,500
475,000
525,500    387,500

b.

Production Budget

	Production Budget For Year Ending 31/12/2009

	Quarter
	1
	2
	3
	4

	Forecast Sales (units)
	1,450
	1,900
	2,100
	1,550

	Add-Planned Closing Stock
	950
	 1,050
	775
	925

	Forecast Sales (Units)
	   2,400
	 2,950
	  2,875
	  2,475

	
	
	
	
	

	Less-Planned Opening Stock
	(725)
	(950)
	(1,050)
	(775)

	
	
	
	
	

	Forecast Production Units
	1,675
	2000
	1825
	1700


NOTE:
Closing stock for Q4

Assumed 2010 quarter 1 sales (units)

 2000

Less Variation




 (150)












1,850



















Closing stock for 2009 Q4 = 50% of 1850 =
925 units

c.


	Labour Budget For Year Ending 31/12/2009

	
	Q1
	Q2
	Q3
	    Q4

	Production Budget (units)
	   1,675
	   2,000
	   1,825
	  1,700

	HRS Per Unit  =6
	 10,050 hrs
	12,000 hrs
	10,950 hrs
	10,200 hrs

	Labour Cost /Hr = N15 =
	N 150,750 
	N180,000
	N164,250
	N153,000


EXAMINERS’ REPORT
Question tests candidates’ understanding and appreciation of the preparation of production and sales budgets.

The level of performance was very poor. No candidate scored up to 50% of the marks allocated to the question.

Candidates did not appear to have prepared for this type of question as only about 5% of the candidates attempted it.  

Major pitfalls came from the under listed areas:

i) Misinterpretation of the requirements of the question.

ii) Bad presentation of answers.

It is recommended that candidates should:

i) Endeavour to cover the entire contents in the syllabus while preparing for future examinations.

ii) Ensure that tuition is received from the right sources.

iii) Ascertain that the right texts are used.

QUESTION 5

	Household Item
	po
	qu
	pn
	qn
	poqo
	poqn
	pnqu
	pnqn

	Bread
	150
	100
	165
	120
	15000
	18000
	16500
	19800

	Butter
	250
	70
	255
	80
	17500
	20000
	17850
	20400

	Cornflakes
	350
	82
	380
	90
	28700
	31500
	31160
	34200

	Custard
	220
	74
	250
	85
	16280
	18700
	18500
	21250

	Beverages
	300
	60
	320
	95
	18000
	28500
	19200
	30400

	Wine
	420
	45
	400
	72
	18900
	30240
	18000
	28800

	
	
	
	
	
	[image: image10.png]


poqo=
	[image: image12.png]


poqn=
	[image: image14.png]


pnqo=
	[image: image16.png]


pnqn =

	
	
	
	
	
	114,380
	146940
	121210
	 154850


(a)
Laspeyre’s price index (Ic)
=
[image: image18.png]


pnqo

x
100









[image: image20.png]


poqo


  1







=
121210
x
100


  








114380

  1








=
105.97%


(b)
Paasche’s price index, (If)
=
[image: image22.png]


pnqo

x
100









Epoqn


  1







=
154,850
x
100









146,940

  1







=
105.38%


(c)
Fisher’s price index, (If)
=
[image: image24.png]JILx 1p



 
                                                                =       [image: image26.png]V105.97 x 105.38




                                                                =      [image: image28.png]V11167.1186










=
105.67%  
(d)
Marshall and Edgeworth’s price index, (Im) =
[image: image30.png]


pn (qo + qn) x   100%










 [image: image32.png]


po(qo + qn)        1









=
[image: image34.png]


pnqo + [image: image36.png]


pnqn x 100









[image: image38.png]


poqo +[image: image40.png]


po[image: image42.png]


n        1









=
121210 + 154850 x 100









114380 + 146940
   1









=
276060
x
100










261320

  1









=
105.64%

EXAMINERS’ REPORT

This question requires candidates to display their understanding of the various versions of price indices.

The question was attempted by about 80% of the candidates who sat for the examination. 

Performance was good.  About 60% of the candidates who attempted the question scored 50% and above.

It is recommended that candidates should:
i) Improve on their performance for future examination.

ii) Consider some improvement in the quality of their tuition and texts.

QUESTION 6

(a)
n(CQT) = 60, n(MA) =75, n(FA)   =   80

n(CQT [image: image44.png]


 MA) = 25, n(CQT [image: image46.png]


 FA) =   20

n(MA[image: image48.png]


 FA) = 30, n(CQT only)    =   27


let n(CQT [image: image50.png]


 MA [image: image52.png]


 FA)
=
x

(b) 
(i)
n(CQT) = 
20 – x + 25 – x + x +27



60
 =
20 – x + 25 + 27



x
 =
72 – 60



x
 =
12


i.e.
=
12 candidates registered for all the three subjects


(ii)
[image: image54.png]


(MA and FA only) = 30 – x = 30 – 12 = 18

(iii)
Let n(MA only) = y 
[image: image56.png]~n(MA)



   = 25 – x + x + 30 – x + y




75  =
25 + 30 – x + y




75  =
55 – 12 + y




y    =  32

(iv)
Let [image: image58.png]


(FA only)
=
Z


[image: image60.png]


(FA) 

= 
20 – x + x + 30 – x +  Z



80


=
50 – x + Z


80


=
50 – 12 + Z



Z


=
42



[image: image62.png]


 at least one subject = 27 + 32 + 42 + 13 + 8 + 18 + 12 = 152
Remember that at least one subject is the same as CQT [image: image64.png]


MA[image: image66.png]


FA, where



CQT [image: image68.png]


MA[image: image70.png]


 FA= CQT [image: image72.png]


 MA’ [image: image74.png]


 FA’ + MA [image: image76.png]


 CQT’ [image: image78.png]


FA’ + FA [image: image80.png]


 MA’ [image: image82.png]


CQT’




  + CQT [image: image84.png]


 MA [image: image86.png]


 FA’ + CQT [image: image88.png]


 MA’ [image: image90.png]


FA + MA [image: image92.png]NnFAN



CQT’




  + CQT [image: image94.png]


 MA [image: image96.png]


FA





   = 27 + 32 + 42 + (25 – 12) + (20 – 12) + (30 – 12) + 12

                                              = 27 + 32 + 42 + 13 + 8 + 18 + 12

                                              = 152
EXAMINERS’ REPORT

Question tests candidates’ exposure to and understanding of the contents of Euler-Venn Diagram and application of Set Theory.

Performance was very good.  About 70% of the candidates who attempted this question scored 50% and above.

It is recommended that candidates should:

i) improve on their study behaviour with a view to better performance in future.

ii) Cover the syllabus more effectively for more brilliant performance.

QUESTION 7

(a)
Expected duration te = (4tm + to + tp)/6 


where tm = most likely duration,  to =  optimistic duration,


tp  =   pessimistic duration


Activity

te

1 - 2


6.2


1 - 3


5.3


1 - 4


9.2


2 – 5


8.7


3 – 5


4. 7


3 – 6


3 .7


4 - 6


12.5


5 - 6


16.5


*e.g. te = 1/6 (4(6) + 4 + 9) = 37/6 = 6.16 = 6.2

                                                                       8.7

(b)

                             6.2



4.7
16.5




5.3



9.2
3
3.7




 


12.5
(c)
(i)
Path


Duration





1- 2 – 5 – 6

6.2 + 8.7 + 16.5
=
31.4



1 – 3 – 5 – 6

5.3 + 4.7 + 16.5
=
26.5



1 – 3 – 6

5.3  + 3.7

=
9.0



1 – 4 – 6

9.2 + 12.5

=
21.7

(ii)
Critical path is 1- 2 – 5 – 6


[image: image98.png]


Minimum duration is 31.4 weeks

EXAMINERS’ REPORT

This question is on Network Analysis, diagrammatic presentation and the determination of the Critical Path (CP)

Attempt was by about 65% of the entire candidates who wrote the examination.

Performance was good.  About 60% of the candidates who attempted this question scored 50% and above.

For improvement in performance in future examination, it is recommended that candidates should:

i) Spend more time in reading, practising and solving past questions.

ii) Digest and understand necessary formulae for use when required.

iii) Ensure that the right quality of tuition is obtained for future examination.
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             EXAMINATION NO………………………...

THE INSTITUTE OF CHARTERED ACCOUNTANTS OF NIGERIA

INTERMEDIATE EXAMINATION – MAY 2011

AUDIT AND ASSURANCE 

Time Allowed – 3 hours

SECTION A:   Attempt All Questions

PART I:    MULTIPLE CHOICE QUESTIONS 



 (20 Marks)

1. An Engagement Letter should be sent by the auditor to the prospective client

A. immediately after the extra ordinary meeting.
B. before the approval of the Financial Statements by the Board.
C. immediately after the audit committee meeting.
D. before the audit process.
E. immediately after the client’s annual general meeting.
2. The powers of the Auditor-General for the Federation EXCLUDE
A.  reporting of his activities to the National Assembly.
B.  pre-auditing of gratuities and pensions. 
C.  monitoring contract performance.
D.  
sending report to the Public Accounts Committee. 
E. conducting audit of public accounts.

3. The main parties in the audit of a limited liability company are:

A. auditors, government and creditors.
B. auditors, government and members.
C. debtors, creditors and management.
D.  directors, members and auditors.
E.  auditors, creditors and members.

4. Which ONE of the following is not true about the Audit Committee?

A. It can initiate investigations
B. It is made up of six members and headed by the head of internal audit
C. It forms an independent liaison between the board and the auditors
D. It leads to increased confidence in credibility and objectivity of reporting
E. It can review the scope and planning of audit requirements.
5. Which quality control standard would most likely be satisfied when an audit 

firm maintains records indicating which partner or employee of the firm was 


previously employed by the client?
A. Monitoring
B. Professional relationship
C. Acceptance and continuance of client and engagements
D. Personnel management 
E. Independence, integrity and objectivity.
6.          A statement prepared by the auditor in respect of an audit assignment setting out the staff and other resources required is known as …………………………….
A. Audit Program.
B. Audit Statement.
C. Audit Budget.
D. Audit Quantitative statement. 
E. Audit Quality.
7.           Which ONE of the following computer documentation can best assist the auditor to obtain an understanding of the internal control system?

A. System flowchart
B. System narrative 
C. Record layout
D. Programme  history
E. Record counts.
8. ONE of the advantages of using statistical sampling method is to 
A. promote the standardization of audit sampling procedures.
B. provide precise mathematical statements about probabilities of being 

correct.
C. make use of auditor’s knowledge and experience in selecting samples. 
D. achieve more than one audit objective. 
E. make selection more cumbersome.
9.           An accounting policy for asset valuation in which the lower of two alternatives is 

          chosen is 
A. Prudency.
B. Legality over form.
C. Conservatism.
D. Substance over form.
E. Materialism.

10. Which of the following is NOT an example of a contingent liability?
A. Guarantee on behalf of subsidiary companies
B. Bill discounted with recourse
C. Legal claim initiated by the client where damages are expected to be 


awarded
D. Product warranty or guarantee
E. Pension liability, if unfunded.
11.           An auditor will use the computer test data method in order to gain assurance 

          with respect to the
A. audit quality control.
B. security of data in a system.
C. degree of data entry accuracy for batch input data.
D. computer system capacity.
E. control contained within a program.

12. ONE of the following items is NOT included in a bank confirmation letter
A. Full title of accounts.
B. Details of assets held but not charged.
C. Full list of indebtedness of Directors. 
D. Bills discounted for the customers with recourse.
E. Forward foreign exchange contracts.
13.

When auditing prepaid insurance, an auditor discovers that the original

insurance policy on plant and equipment is not available for inspection.  

The absence of the policy mostly indicates the possibility of 

A. an insurance premium due but not recorded. 
B. a deficiency in the insurance premium provision.
C. a lien on the plant and equipment. 
D. an understatement of insurance cost.
E. an overstatement of insurance cost.
14.
 
An “emphasis of matter” paragraph inserted in a standard audit report is 



referred to as

A. a “subject to opinion”.
B. an “except for opinion”.
C. an adverse opinion.
D. an unqualified opinion.
E. a division of responsibility.

15.          Which of the following is NOT an engagement that needs a forensic accountant?

A. Damage computation
B. Management accounts
C. Statutory audit
D. Royalty audit
E. Expert witness testimony.
16.
ONE of the following is NOT covered by the “rules of professional conduct” for professional accountants

A. Conflicts of interest
B. Advertisement 
C. Audit fees
D. Auditors’ assets declaration
E. Personal relationship.
17.
Which of the following is NOT a requirement of an auditor as provided in the Company and Allied Matters Act CAP C20 LFN 2004?

A. His mode of appointment
B. The basis of charging his fees 
C. To exercise diligence and skills 
D. Right of access to books 
E. His mode of resignation.
18.
Audit failure can occur as a result of the following EXCEPT 
A. ethical failure.
B. negligence in carrying out the audit process.
C. inability of the auditor to obtain practicing licence.
D. environmental and cultural differences. 
E. the limitations of the modern audit process itself.

19.
According to SAS 2, Financial statements of an enterprise are expected to state the following EXCEPT 

A. Its relationship with significant suppliers.
B. Statement of accounting policies.
C. Profit and loss account.
D. Balance sheet.
E. The Directors’ report.

20.
Which of the following is considered the least reliable audit evidence?

A. External evidence
B. Observation
C. Documentary evidence
D. Interview
E. Third party confirmation.
PART II:     SHORT ANSWER QUESTIONS 



        (20 MARKS)

1. The responsibility of the auditor to act in accordance with the Nigerian standard on audit, is to act carefully, thoroughly and on timely basis is……………………

2. No moneys shall be withdrawn from any public fund of a State other than from the ………..fund unless the issue of those moneys has been authorised by a law of the House of Assembly.

3. Which other body or person does the internal auditor appointed by management report to? 

4. A type of computer fraud is………………………

5. These bases and procedures adopted by an entity in preparing and presenting its financial statements are known as……………….

6. The part of audit report that states that the audit was conducted in accordance with relevant international and Nigeria standards as appropriate is known as…………………..

7. Persons who evaluate system, define requirements for information and design the systems for handling needs of the company are…………………….

8. Audits that are NOT statutorily provided for, such as audits of sole traders, charitable organizations, or non governmental organisations and clubs are referred to as…………………….

9. Threats which may affect compliance with ethical rules may be eliminated by …..................

10. The final function in an audit process is the ……………………….

11. The scope of the audit work will depend on the auditor’s terms of reference which may be specific instructions of the client and /or relevant …………and………….

12. What is the responsibility of the external auditor as regards statutory books in a company?

13. An audit approach which ignores the procedures which take place within the computer programs and concentrates solely on the input and corresponding output is…………………………

14. The act of informing the relevant public authorities of some breach of law or regulation is referred to as…………………………..

15. Who can nominate a shareholder as a member of the Audit Committee?

16. Techniques used in conducting audit procedures by entering data results obtained with predetermined results is known as …………………

17. What audit approach has the advantage of serving as a guide for future audit work?

18. The nature of the entity’s business is a factor that influences………………

19. What technique of audit testing studies a procedure as it is being performed?

20. The approach to auditing which relies on the controls contained within the client’s accounting system to validate the accounting records is…………………..

SECTION B:   ATTEMPT ANY FOUR QUESTIONS 

        (60 MARKS)

QUESTION 1
International Standard on Auditing (ISA) establishes standards and provides guidance on communication of audit matters arising from an audit to those charged with governance of an entity

Required:
State the audit matters of interest to be communicated to those charged with governance of an entity







    (15 Marks)
QUESTION 2

(a)
State TEN circumstances that may indicate the possibility that financial statements may contain material misstatements resulting from fraud. (5 Marks)
  
(b)
Discuss FIVE of these circumstances.




    (10 Marks)  










      (Total 15 Marks) 






                        
QUESTION 3

(a)
Enumerate TEN contents of the audit completion checklist.

      (5 Marks)

(b)
Explain FIVE
of the contents of an engagement letter. 

    (10 Marks)



    





       (Total15 Marks)

QUESTION 4

(a)
What are subsequent events? 





      (6 Marks)
(b)
What are the auditors’ responsibilities for subsequent events?
      (9 marks)                                                                       


     





                (Total 15 Marks)
QUESTION 5

Write short notes on the following in relation to a computer based accounting system

(a)
Audit trail

(b)
Translators

(c )
Black box approach

(d)
Back up routine

(e)
System manual. 






       (Total 15Marks)
QUESTION 6
With respect to public sector accounting, write short notes on the following:

(a)
i.  Economy and efficiency audit




                (4 Marks)


ii. Value for money audit





                (4 Marks)

(b)
List the SEVEN divisions in the office of the Auditor General for the Federation and explain their functions.





      (7 Marks)
                                                                                                                (Total 15 marks)

SOLUTIONS TO SECTON A
PART I MULTIPLE – CHOICE QUESTIONS

1.
D
2.
D
3.
D

4.
B
5.
E
6.               C 
 7.
A
 8.
          B

 9. 
          C

 10.
          C
 11.
          E
12
 C
13
 C

14

D

15

C

16

D
17

B

18

D

19

E
20

D
EXAMINERS’ REPORT

The questions cover many parts of the syllabus.  All the candidates attempted the question. 

About 50% of the candidates scored 50% and above. 
PART II SHORT ANSWER QUESTIONS

1. Diligence 
2. Consolidated Revenue
3. The Audit Committee 

4. Data diddling, computer hacking, piggy backing, Salami technique, eaves dropping, wire tapping. (Any one) 
5. Accounting Policies
6. Auditors’ responsibility paragraph
7. System Analysts
8. Non-Statutory or Private Audits
9. Safeguards
10. Reporting Stage
11. Legislation/statute/regulations

12. Ensure they are in existence 
13. Auditing round the computer and/or black box audit approach
14. Whistle blowing

15. Any share holder/any member of the company

16. Test data packs
17. Audit Planning
18. Inherent risk
19. Observation  

20. System based auditing
EXAMINERS’ REPORT

The questions cover a wide spectrum of the syllabus.  All the candidates attempted the questions and the performance was satisfactory.  About 50% of the candidates scored 50% and above.

SOLUTIONS TO SECTION B
QUESTION 1

Audit matters of interest that arise from the audit of the financial statements and communicated to those charged with governance of an entity include the following:

i.
The general approach and overall scope of the audit, including any expected limitations thereon, or any additional requirements.

ii.
The selection of, or changes in, significant accounting policies and practices that have, or could have, a material effect on the entity’s financial statements.

iii.
The potential effect on the financial statements of any material risks and exposures, such as pending litigations, that are required to be disclosed in the financial statements.

iv.
Audit adjustments, whether or not recorded by the entity that have, or could have, a material effect on the entity’s financial statements.

v.
Material uncertainties related to events and conditions that may cast significant doubt on the entities ability to continue as a going concern.

vi.
Disagreement with management about matters that, individually or aggregate, could be significant to the entities financial statements or to the auditor’s report.  This communication includes consideration of whether the matter has or has not been resolved and the significance of the matter.

vii.
Expected modifications to the auditor’s report.

viii.
Other matters warranting attention by those charged with governance, such as material weaknesses in internal control, questions regarding management integrity and fraud involving management.

ix.
Any other matters agreed upon in terms of audit engagement.

As part of the Auditors communication, those charged with governance are informed that;

1.
The Auditors communication of matters include only those audit matters of governance interest that have come to the attention of the auditor as a result of the performance of the audit; and 

2.
An audit of financial statements is not designed to identify all matters that may be relevant to those charged with governance.  Accordingly, the audit does not ordinarily identify all such matters.

EXAMINERS’ REPORT

The questions tests candidates’ knowledge on audit matters relating to the party responsible for an entity’s governance.

About 50% of the candidates attempted the question.  The performance was poor.  Over 50% of the candidates scored less than 50% of the marks allocated.  The commonest pitfall is misconstruing the question for requirements on corporate governance.  Candidates are advised to read questions well before answering them. 

QUESTION 2(a)
Examples of circumstances that indicate the possibility that financial statements may contain material misstatements resulting from fraud include:

i.
Transactions that are not recorded in a complete or timely manner or are improperly recorded as to amounts, accounting periods or classification of the entity’s policies.

ii.
Unsupported balances or authorized transactions.

iii.
Last-minute adjustments that significantly affect financial results.

iv.
Evidence of employees’ access to systems and records that are not necessary for the performance of their authorized duties.

v.
Missing or mutilated documents.

vi.
Tips on complaints to the auditor about alleged fraud.

vii.
Documents that appear to have been altered.

viii.
Where only photocopied or electronically transmitted documents are available. 

ix.
Significant and unexplained outstanding items on reconciliations.

x.
Unusual balance sheet changes, or changes in trends or important financial statement ratios or relationships.  For example, account receivables growing faster than revenues.

xi.
Inconsistent, vague or implausible responses from management or employees arising from inquiries or analytical procedures.

xii.
Unusual discrepancies between the entity’s records and confirmation replies.

xiii.
Large numbers of credit entries and other adjustments made to account receivable records.

xiv.
Unexplained or inadequately explained differences between the debtors-ledger and the control accounts.

xv.
Missing inventory or physical assets of significant magnitude.   

xvi. 
Unavailable or missing electronic evidence, inconsistent with the entity’s record retention practices or policies.

xvii.
Inclusion of ghost workers in the payroll

(b) 
Improper and unwholesome recording of transactions
 i.
There is a possibility of financial statements containing material misstatements if transactions are not recorded in a complete and timely manner or improperly recorded as to amounts, as a result of fraud.   Transactional recordings are made in different accounting periods like in ‘teeming and lading’ and ‘kiting’ or policies alien to the organisation are applied in order to cover fraud.  These definitely indicate that the financial statements may contain material misstatements, which may not indicate a true and fair position of the financial affairs of the enterprise.

ii.
Unsupported balances or unauthorized transactions:  The non-availability of supporting documents e.g. approved invoices or other payment documents like payroll.  Another example is unauthorised write-off of balances especially receivables; the collection of cash would probably have been made thereby affecting the integrity of these balances.

iii.
Last minute adjustments that significantly affect financial results:  Adjustments made that materially affect financial results at the last minute have the trappings of fraud, so the auditors are usually put on enquiry.  More often than not, these adjustments are made for the purpose of “window dressing” the financial statements or for “creative accounting”, and would be reversed immediately after the year end date.  Examples are drawing of cheques before the year end and the cheques reversed immediately after the year end e.g. Re: Thomas Gerrard & Sons Ltd. Case.  

iv.
Evidence of employee’s access to systems and records that are not necessary to perform their authorized duties:


The circumstance whereby there is no adequate internal check or control over documents and systems especially accounting and human resources records and books – including security documents, portends the possibility of fraud which may be reflected in the misstatements found in the financial statements.   

v.
Tips or complaints to the auditor about alleged fraud:  Circumstances whereby staff gives tips or complaints to the auditor about alleged fraud are indications of possibility of fraud which may be reflected in the financial statements containing material misstatements.  Since there is possibility of staff possessing reliable information, the auditor is put on enquiry and it behoves on him to make necessary enquiries, for him to report appropriately.

vi.
Missing or Mutilated documents: 


Material fraud can occur as a result of suppression or mutilation of documents, for example unauthorised tearing of all copies of invoices in a booklet, tearing of cheque leaves from the middle of a cheque book, tearing of receipt leaflets from the middle of the receipt booklet or sudden disappearance of important documents from the company’s files and or safes and cabinets.  All these can affect the true and fair situation by imputing material misstatements into the financial statements.   

vii.
Documents that appear to have been altered:  Irregular and unauthorised alteration and cancellation of documents may be as a result of fraud, and this may result in material misstatements in the financial statements.  

viii.
Where only photocopied or electronically transmitted documents are available:


Photocopies or electronically transmitted documents cannot be relied upon totally.  These documents are not admissible legally as reliable source of evidence.  Where documents made available are photocopied or electronically transmitted, there might have been a fraud committed within the organisation.

ix.
Significant unexplained and outstanding items on reconciliation:


Every item under reconciliation must be capable of being traced to the source.  Where unusual or unexplainable items of significance appear on the reconciliation, this may be as a result of fraud committed within the organisation, especially when these items keep recurring and left uncleared.  In effect, material misstatements which will affect the true and fair position of the financial statements are most likely to be found.

x.
Unusual balance sheet changes:  Comparison of financial or non-financial information is usually carried out by analytical review.  Where there are material changes or deviations from usual trends, ratios or relationship or predictable pattern, this may be as a result of fraud committed in the organisation.  This circumstance is more noticeable where there is no relationship evidence between account balances and transactions.

xi.
Large numbers of credit entries and other adjustments made to accounts receivable:  The credit entries and other adjustments in the accounts receivable may be as a result of fraudulent transactions that may have been perpetrated.  This may have been done in order to show incorrect position of the trade debtors as at the end of the financial year under review.  For instance the sales would have been made in cash and credit entries made for them in the accounts, cash already collected but not accounted for.

xii.
Unexplained or inadequately explained differences between the debtors’ ledger and the control accounts:  The difference between the two records may be as a result individual debtor accounts being manipulated to cover fraud and defalcations or with the intention to percolate.  This will obviously cause unreconcilled differences between the individual debtor accounts and the control accounts.     

xiii.
Inconsistent vague or implausible responsible to audit enquiries: The management or employees of the company may give inconsistent vague or implausible responses to audit enquiries in their bid to conceal fraudulent transactions that may have been perpetrated e.g. enquiries on debtors balances not matching with third party confirmation may be responded to with inconsistent or vague explanation that may not address the substance of the matter.  

xiv.
Unusual discrepancies between the entity’s records and confirmation replies:

It is a good audit practice to confirm balances (including nil or even credit balance) directly from the debtor, creditor or banks by circularizing them.

Unusual discrepancies between the entity’s records and confirmation replies may indicate possibility of circumstances of the financial statements containing material misstatements resulting from fraud.  The auditor is therefore put on enquiry to examine the circumstances before he forms his opinion.  Causes of discrepancies include manipulation of records in order to misappropriate cash or monies received from debtors or payments to creditors and also to cover defalcation of cash, teeming and lading and kiting.

xv.
Missing inventory or physical assets of significant magnitude:

Stocks and physical assets constitute two of the largest items in the balance sheet; hence a significant misstatement of stock and physical assets will have a material effect on the financial statements.  

The effect of missing inventory will understate the stock levels of the company and hence the profitability level and; the missing physical assets of significant value will also deplete the fixed assets base of the enterprise.  These anomalies will put the auditor on enquiry to determine the extent of fraud before forming his opinion on the financial statements he is reporting on since the missing inventory or physical assets are indicative of fraud which invariably will affect the true and fair position of the financial statements.  

xiv.
Unavailable or missing electronic evidence inconsistent with the entity record retention practices or policies: This is where in a computer based arrangement, the system does not allow the proper retention and comparison of recorded electronic information consistent with the entity’s record retention practices or policies, for instance, where back up routine to ensure that computer operations files is off computer location, in cases where computer files are maintained in magnetic tapes or cassettes or other serial access devices is not available.  Back up routine is usually achieved by means of grandfather, father and son security technique.  This technique ensures that three generations of files (both master and transactions files are kept so that if one is damaged or lost, the data in it can be created from other copies.  Other means of back up include discs; diskettes, and flash drives.  This circumstance can cause loss of valuable data which may be deliberate in order to perpetrate fraud and therefore causing deliberate misstatements in the financial statements. 
EXAMINERS’ REPORT

The question tests circumstances that can indicate financial statements containing misstatements as a result of fraud.
About 90% of the candidate attempted the question and the performance was poor.  
About 30% of the candidates scored less than 50% of the marks allocated.

The commonest pitfall was that instead of addressing the requirements of the questions, candidates restricted their answers to issues relating only to internal control.  
Candidates are advised to prepare well for examination by making use of the Institute’s study packs, pathfinders and other relevant materials.

QUESTION 3

a.     Checklist contained in the current audit file include:

i. Have all the explanations and information which to the best of our knowledge and belief were necessary for the purpose of the audit been obtained?
ii. Have proper accounting records been kept and proper returns received from branches not visited?
iii. Are the financial statements in agreement with the records and returns? 
iv. Do the financial statements give a true and fair view of the result for the period and the state of affairs at the balance sheet date?

v. Do the financial statements comply with the requirements of the enabling laws? 
vi. Where appropriate, do the group financial statements show a true and fair view of the group position and comply with the requirements of the enabling laws?

vii. When appropriate, does the audit report include any qualification contained in the reports of subsidiary auditors to the extent that the qualifications are material in the context of the group accounts as a whole?

viii. Have questionnaires sent to subsidiary auditors been duly completed and returned to our satisfaction?

ix. Are the financial statements prepared in accordance with the requirements of relevant statement of accounting standards and other regulations?

x. Does the audit report refer, in appropriate terms, to all significant departures from accounting standards and other regulations? 
xi. Have the financial statements been approved and signed by the directors before the audit report is signed?

xii. Have all outstanding queries been satisfactorily resolved?

xiii. Have all appropriate post balance sheet events been dealt with? 
b.
Contents of the engagement letter include
i.
The scope of the work agreed with the client:- 
The type of the assignment with respect to the scope and period covered. The responsibility of the auditor with respect to the expression of opinion   
on the true and fair view of the financial statements must be stated in the letter, even when the scope is otherwise covered by other legal and regulatory requirements.

ii.
Explanation on distinction between the audit assignment and discovery of fraud.  The clients need to know that the primary purpose of the audit is not to detect incidents of fraud but the audit will be planned in a way that will reveal material misstatements or fraud in the accounts.

iii.
Other services provided by the auditor:  The auditor indicates other services he provides such as taxation, accounting and other consultancy services, electronic data processing services, assistance with secretarial services, among others.

iv.
The details of the verbal discussions that came up between the clients and the auditor on the audit assignment.

v.
The basis of fees to be charged for the audit assignment must be clearly stated in the engagement letter.  This is to prevent any ambiguity or argument on the payments of professional fees at the conclusion of the assignment.  

vi.
An overview of the procedures to be followed in carrying out the audit assignment must be clearly stated in the engagement letter which must be given to the client before the commencement of the assignment.

vii.
Explanations as to the responsibilities of the directors in the preparation of the financial statements to be audited must be stated in the letter.

viii.
Management letter/letter of weakness or domestic report:  Engagement letter would state that any comments and deficiencies observed in the audit process and suggestions on the possible ways of improvement will be communicated to the client at the end of the audit process.

EXAMINERS’ REPORT

Part (a) of the question tests audit completion check list while part (b) tests the contents of the auditor’s engagement letter.

More than 70% of the candidates attempted the question.  Candidates’ performance in part (a) was poor, whereas performance in part (b) was satisfactory.  The common pitfalls of candidates in part (a) was that candidates were listing the contents of audit programme instead of audit completion list.  

Candidates are advised to read and understand the requirements of a question before attempting it.
QUESTION 4

(a)
Subsequent events are events or transactions that occur subsequent to the balance sheet date, but prior to the financial of the financial statements and auditor’s report, that have material effect on the financial statements and therefore require adjustment or disclosure in the statements.

Subsequent events that occur after the balance sheet date but before the issuance of the financial statements are of two categories namely:

· Those that require the adjustments of account balances and 

· Those that should not be recorded but should be disclosed in the financial statements.
(b)
Auditors responsibilities for subsequent events depend on whether they occurred before or after the date of the auditor’s report.  Auditors have no responsibility to seek any additional evidence in the period between the date of the auditor’s report and the date the financial statements are issued.  Nevertheless, many auditors believe that while they do not have a responsibility 
to seek additional evidence during that period, they do have a responsibility not to ignore information that comes to their attention.


The audit procedures to identify events that may require adjustments of, or disclosure in, the financial statements would be performed as near as practicable to the date of the auditor’s report.  Such audit procedures take into account the auditors risk assessment and ordinarily include the following:

i.
Reviewing the procedures that management has established to ensure that subsequent events are identified.

ii.
Reading minutes of the meetings of shareholders, those charged with governance, including established committees such as relevant executive committees and the audit committee held after period end and inquiring about matters discussed at meetings for which minutes are not yet available.

iii.
Reading the entity’s latest available management financial statements and, as considered necessary and appropriate, budgets, cashflow forecasts and other related management reports.

iv.
Inquiring, or extending previous oral and written inquiries, of the entity’s legal counsel concerning litigation and claims.

v.
Inquiring from management as to whether any subsequent events have occurred which might affect the financial statements. 

Specific enquiries on management include

· The current status of items that were accounted for on the basis of preliminary or inconclusive data.

· Whether new commitments, borrowings or guarantees have been entered into.

· Whether sales or acquisition of assets have occurred or are planned.

· Whether the issue of new shares or debentures or an agreement to merge or liquidate has been made or is planned.

· Whether any assets have been expropriated by government or destroyed, for example, by fire or flood.

· Whether there have been any developments regarding risk areas and contingencies.

· Whether any unusual accounting adjustments have been made or are 

     contemplated.

· Whether any events have occurred or are likely to occur which will bring into question the appropriateness of accounting policies used in the financial statements as would be the case for example, if such events call into question, the validity of the going concern assumption.

· When a component, such as division, branch or subsidiary is audited by another auditor.  The auditor would consider the auditor’s procedures regarding events after period end and the need to inform the other auditor of the planned date of the auditor’s report.

EXAMINERS’ REPORT

Parts (a) and (b) of the question test candidates’ knowledge on subsequent or post balance sheet events.  About 75% of the candidates attempted the question.  Performance in part (a) was satisfactory.  The candidates failed to marshal their points.  The major pitfall of candidates was that they gave some answers to part (b) of the question to part (a) and vice versa.
QUESTION 5

(a) Audit Trail 

Audit trail is the accumulation of source documents and records as evidence of executed transactions that allow an organization to trace accounting entries back to their initiation and the output.  A good audit trail (also called transactions trail) is important as it serves as a follow up on customer and management inquiries and also for effective auditing.  In a computer-based system, audit trail is easily lost or eliminated.  The auditor will be able to prevent loss of audit trail if there is in-built trail into the program.  If this is done, management will be able to direct and control business operations while file reconstruction would be possible in the event of user or computer break down.  In similar manner, the auditor would be in a position to occasionally test the program.

(b)
Translators   

These are programs used for translating instructions from the programming language used and understood by the programmers to the machine language, which the computer understands.  Some of the translators include assemblers, compliers, and interpreters. They are important to the auditor during both compliance and substantive testing of application controls in the course of their audit. 

(c)      Black Box Approach
This is an audit approach where the auditor ignores computer processing and concentrates on computer input and output.  He assumes that computer processing must be right, gives accurate and complete input to generate output.  It helps the auditor to minimize details; saves audit time and concentrates on the efficiency of input data and output review and control.

(d)
Back Up Routine
This means that all arrangement and facilities are available in a computer-based accounting system to ensure that computer operations are recommenced after a system failure or data/file creation error, environmental factors or hardware or software failures.  The usual practice is to keep copies of important 
program files in off computer locations.  In case where computer files are maintained in magnetic tapes or cassette or other serial access devices, back up routine are usually achieved by means of “grandfather, father, and son security technique”.  This technique ensures that three generation of files (both master and transaction files are kept so that if one is damaged or lost, the data in it can be re-created from other copies.  Other means of back up include discs, diskettes, and flash drives.

(e)
System Manual

This is a handbook that contains all the procedures in the application of the computer accounting system of the organisation.  It is a guidance document detailing all the input controls, operation controls, verification procedures, security and back up arrangement.  It is useful to the auditor as aid to understanding the system of the organisation so as to enable him perform his duties properly.   

EXAMINERS’ REPORT

Parts (a) to (e) of the question test candidates’ knowledge of audit in a computer based accounting environment.  About 70% of the candidates attempted the question.  Their performance was average but they can perform if candidates spend more time on their studies and read the right texts.

About 50% of the candidates that attempted the question scored 50% and above.  Candidates should improve on their preparation for future examinations.
QUESTION 6
(a) 
i.
Economy and Efficiency Audit

This is a measurement of how economic resources are efficiently employed and deployed.  It is also to highlight areas of wastes; extravagant or unrewarding expenditure.  It looks into failure to maximize receipts; financial arrangements that are detrimental to the treasury and weaknesses leading to them.

    
ii.
Value for Money Audit

This is also called Performance Audit and some call it Economy and Efficiency Audit.  The essence is to determine whether an entity is acquiring, managing or utilizing its resources in the most economical and efficient manner.  It traces the causes of any inefficiencies or uneconomical practices.  Value for Money Audit is defined as an objective professional and systematic assessment of:

· The nature and function of an authority’s managerial systems and procedures;

· The economy and efficiency with which its services are processed;

· The effectiveness of its performance in achieving objectives

(b)
The seven divisions in the Auditor General’s Office are:

i.
Treasury Accounts division:  This division handles the audit of accounts and financial statements.

ii.
State accounts division: This division is charged with the audits of the transactions of pay officers operating in various states.   

iii.
Public Enterprises division: This oversees the audit of parastatals etc

iv.
Project Audit division:  This division investigates justifications of spending on government projects.

v.
Pension division:  This division conducts pre-audit of gratuities and pensions

vi.
Losses and Investigations division:  This section investigates all cases of loss of funds.

vii.
Annual Report and Public Accounts Committee division: This section handles all reports and links with Public Accounts Committee deliberations.

EXAMINERS’ REPORT

The question is in two parts (a) and (b).  It tests candidates’ knowledge of auditing in the public sector.  About 90% attempted the question.  

The major pitfall of candidates was that part (b) of the question which asks for various functions of the divisions of the office of the Auditor-General for the Federation was not well answered by candidates thereby losing valuable marks.

Candidates are advised to adequately cover all parts of the syllabus.
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THE INSTITUTE OF CHARTERED ACCOUNTANTS OF NIGERIA

INTERMEDIATE EXAMINATION – MAY 2011

TAXATION

Time allowed – 3 hours  

SECTION A:  Attempt All Questions

PART I:   MULTIPLE-CHOICE QUESTIONS 


            (20 MARKS)

1. In Regressive Taxation, marginal rate of tax is determined by the use of one of 


the following formulae.
A.      Change in Tax Paid divided by Change in Income

B. Change in Income divided by Change in tax paid

C. Total Tax Paid divided by Total Income
D. Total Income divided by Total Tax Paid
E. Marginal Rate of Tax divided by Change in Income.
2. Who is responsible for the general direction and control of all employees


of Education Tax Board of Trustees.
A. Human Resources Manager
B. Personnel Manager
C. General Secretary
D. Executive Secretary
E. Chairman.
3. Which of the following is NOT an example of indirect tax?
A. Value Added Tax.
B. Stamp Duties.
C. Companies Income Tax.
D. Excise Duties.
E. Customs Duties.

4. Which tier of government collects tenement rates and slaughter slab fees?
A. Federal Government
B. Federal Capital Territory
C. State Government
D. National/State House of Assembly
E. Local Government.

5. What is the “principal place of business” of an individual whose only source of income is pension?

A. State of origin
B. Place of unusual residence
C. Place nearest to usual place of work
D. Place of work
E. Place of birth.
6. Which of the underlisted is NOT relevant for filing Companies Income Tax

returns?

A. Auditors’ Report with the seal of the principal audit partner of the audit

firm
B. Balance Sheet signed by two directors of the company
C. Certified copy of Certificate of  Incorporation
D. Directors Report 
E. Cashflow and Value Added Statements.
7. Which of the following incomes will not be subject to withholding tax in  
Nigeria?

A. Dividend
B. Rent
C. Professional fees
D. Salaries
E. Commissions.

8.
Information contained in a Tax Clearance Certificate covers how many years if it is not a new company?
A. 2 
B. 3 
C. 4 
D. 1½ 
E. 5 

9.
Allowances usually granted in lieu of depreciation under Companies Income Tax


Act CAP C2D LFN 2004 are called 
A. allowable deduction.
B. capital allowances.
C. personal allowances.
D. general allowances.
E. departmental allowances.
10.
An individual who is in full time employment with Armed Forces is deemed to be resident for tax purposes in
A. State capital.
B. Barracks. 
C. His/her hometown.
D. Federal Capital Territory.
E. Lagos.
11.
Which of the following levies cannot be collected by Local Government?
A. Motor park fees
B. Domestic animal licence fees
C. Road closure levy
D. Road Taxes
E. Shops and Kiosks rates.

12.
Members of the Technical Committee of FIRS will include all of the following EXCEPT
A.
Executive Chairman of FIRS as Chairman.


B.
all Directors and heads of departments of the FIRS.


C.
a representative of the Minister of Finance not below the rank of a



Director.

D.
Legal Adviser to FIRS.  


E.
Secretary to Federal Inland Revenue Service Board.

13.
For the purpose of the determination of benefits- in-kind for an employee living in official quarters, such employee will be liable to ……….of the rateable value of such quarters.

A
5%

B
10%

C
1%

D
2%

E
3%

14.
Earned Income means income

A.
from trade, business, profession, vocation or pension only.

B.
received but not worked for.

C.
received by way of gift.

D.
from trade, business, profession, vocation, employment or a



pension.

E.
received from rent, royalties, dividend and interest.
15.
The following are conditions for an expense to qualify as allowable deduction


under Personal Income Tax Act CAP P8 LFN 2004 EXCEPT

A. exclusivity
B. necessity
C. importance
D. wholesale.
E. reasonability.
16.
Which of the following conditions would disqualify an individual from being granted children allowance where a child is
A. under 16 years of age.
B. unmarried.
C. receiving part-time education.
D. under articleship or indentureship in a trade.
E. wholly maintained by an individual and in full time educational



institution.

17.
Revenue’s option to revise an assessment to actual basis on cessation of


business is for

A. pre-penultimate year.
B. penultimate year.
C. pre-penultimate and penultimate year.
D. cessation year.
E. accounting year.
18.
Income tax paid during the year is debited to

A. Income Tax Account.
B. Education Tax Account.
C. Profit & Loss Account.
D. Value Added Tax Account.
E. Withholding Tax Account.

19.
The minimum number of members of the Tax Appeal Tribunal that must sit at


an appeal hearing for it to be valid is

A. three.
B. ten.
C. six.
D. seven.

E. five.
20.
Which one of the following is a member of Value Added Technical Committee?
A. The Minister of Finance
B. A Director in the Nigeria Customs Service
C. The Legal Adviser to the VAT Tribunal
D. The Comptroller-General of the Nigeria Customs Service
E. A Director of the Joint Tax Board.
PART II:  SHORT ANSWER QUESTIONS 



        (20 Marks)

1. Any compulsory payment by an individual to government, which does not result in commensurate or direct economic benefit to the payer is in essence a………………..
2. The technical name given to a tax borne by a person other than the tax payer is called……………………………………..
3. The number of taxes a State Government is authorised to collect in accordance with Taxes and Levies (Approved list for collection) Act, 1998 is …………………. 
4. An employment, the duties of which are wholly performed outside Nigeria, save during any temporary visit of the employee to Nigeria is called………………….
5. What is the name given to any profits distributed by an existing company whether such profits are of capital nature or not?
6. An income from any interest on money lent by an individual, or an executor, or a trustee, outside Nigeria to a person in Nigeria would be deemed to be derived from………………..
7. What rule will apply to the partners of a partnership business under Personal Income Tax Act CAP P8 LFN 2004, when the business is converted to a Limited Liability Company?

8. What is the maximum allowable donation to a tertiary and research institution?

9. Tax payers’ right of election on commencement of business covers……………and …………….years.

10. How many assessment years are relevant in a change of accounting date?
11. Ultimate year on cessation of business is synonymous with …………………
12. State two types of loss reliefs available to a taxpayer who incurs losses in the course of trading activities.
13. Dividend received by a company after deduction of withholding tax is regarded as ………………………
14. What is the general name given to a tax borne by a person other than the one from whom the tax is collected?
15.
An assessment raised where there is no submission of Income Tax returns is called……………….
16.
The relief available for a tax in Nigeria on an income which has suffered tax in the territory of another tax authority outside Nigeria is…………………… 
17.
When there is a gap between basis period on a change of accounting date, which year is the gap deemed to belong?
18.
Any text that contains at least one alpha character is referred to as……………….
19.
The principal place of residence of an individual whose only source of income is pension is…………………………..
20.
An allowance granted in taxation in lieu of wear and tear of an asset is called…………………..
SECTION B:    ATTEMPT ANY FOUR QUESTIONS 

         (60 Marks)
QUESTION 1

(a)     List four (4) core objectives of a modern tax system.

  
      (4 Marks)

(b)     Comment on the proposition of Adam Smith (1776) and the Modern Tax system

         principles of an Ideal Tax System. 





      (5 Marks)

(c)     State and discuss sources of Nigerian Tax Laws.



      (6 Marks)











      (Total 15 Marks)

QUESTION 2

Okon-Ade is an employee of a multinational company based in Lagos, Nigeria.  Other details are as follows:

i. 
He provides for his old age by contributing N500 per month to an approved pension scheme;

ii. 
He lives with his two aged parents who have no income of their own;

iii.
He has a life insurance policy and pays a premium of N10, 000 per annum.  He was on a basic salary of N480,000 per annum in 2009 and maintains five children.  Other information about his children are as follows:

· Jane is attending a private school and she is 8 years old;

· Tony the last child of the family celebrated his 3rd year birthday recently;

· Remi is 19 years old and a full time final year student of Lagos State Polytechnic, Isolo;

· Jack is 16 years old and attends Government Secondary School, Oshodi; and

· The eldest daughter, Jeniffer, is a full-time housewife of Chief Butterfly at Okokomaiko.

Required:
(a) Compute Okon-Ade’s Personal Income Tax payable for the 2009 Year of
Assessment.
      







     (9 Marks)

(b) In what circumstances can his claim for children and dependent relative allowances be approved?





                (6 Marks)

   (Total 15 Marks)
QUESTION 3

Richard Abdulahi Nigeria Limited is a company duly incorporated in Nigeria.           The company’s financial results for the year ended 31 December 2007 are as follows:

RICHARD ABDULAHI NIGERIA LIMITED

Balance sheet as at 31st December 2007

	
	N’000
	 N’000

	Share Capital
	
	32,000

	Statutory Reserve
	
	12,000

	General Reserve
	
	20,000

	Long-Term Loan
	
	14,000

	
	
	78,000

	Represented by:
	
	

	Fixed Assets
	
	40,000

	Current Assets
	112,000
	

	Less: Current Liabilities
	  74,000
	38,000

	
	
	78,000


The following additional information is available from the records:

(a) Unrelieved capital allowance brought forward from 2007 year of assessment was N120, 000.

(b) Capital allowance for the year 2008 was N190,000

(c) Turnover (2007) 

N40,000,000

(d) Gross profit (2007)

  N7,000,000

(e) Assessable Profit for 2008 year of assessment was N420,000

Required:
Compute the company’s income tax liability for relevant year of assessment taking cognizance of the minimum tax provision.




    (15 Marks)
QUESTION 4

(a) 
What information must be contained in a Notice of Appeal against a VAT assessment?








      (5 Marks) 

(b)      Discuss THREE types of VAT.





      (7 Marks)

(c)
In Computer Assisted Tax Planning, ‘IF’ function plays a key role for testing values and formulae that are called arguments.  

Briefly explain the following terminologies to explain the use of “IF” function:

(i) Logical test

(ii) Value if true

(iii) Value if false






                (3 Marks)

      (Total 15 Marks)

QUESTION 5   

Pen, Pencil and Marker have been in business for many years sharing profits and losses in the ratio 2:2:1.  On 1 June 2009, Pen retired and Eraser was admitted on the same day on a salary of N270, 000 per annum. For him to enjoy the profit sharing ratio of Pen, he brought in a capital of N252, 000.  The following are the adjusted profits of the partnership:

	Year ended 31 December 2007
	N2,160,000

	Year ended 31 December 2008
	N2,475,000

	Year ended 31 December 2009
	N3,600,000

	Year ended 31 December 2010
	N3,300,000

	
	


The following additional information is provided:

i.
The capital accounts of the partners are:



Pen

N225,000



Pencil

N450,000



Marker
N315,000

ii.
Interest on Capital is to be 10% p.a

iii.
Partners’ salaries were agreed as follows:



Pen

N540,000



Pencil

N360,000



Marker
N270,000

Required:

(a)
Compute each partner’s income from the partnership for 2009 year of assessment.








    (10 Marks)

(b)
State how a partner’s income is determined from the gains or profits from a partnership.








      (5 Marks)











      (Total 15 Marks)

QUESTION 6

OSHODI-OKE Ltd has been in operation for several years.  In 2005, it submitted 18 

months accounts to 31 December 2005.  The following are the results of its previous 

performance before the change of accounting date and the subsequent 2 years.

	Adjusted Profits
	
	N

	Year ended
	30/6/2004
	400,000

	18 Months ended
	31/12/2005
	525,000

	Year ended
	31/12/2006
	450,000

	Year ended
	31/12/2007
	600,000


Required:

(a)
Compute assessable profits for the relevant years of assessment of Oshodi-Oke Ltd from the point of view of the tax authority.



      (7 Marks)

(b)
As a new tax consultant of Oshodi-Oke Ltd, briefly explain basis of assessment in each of the following circumstances:

(i) Subsisting business






      

(ii) Commencement of business




      

(iii) Change of accounting dates




      

(iv) Cessation of business





      (8 Marks)

      (Total 15 Marks)

TAX RATES

1. CAPITAL ALLOWANCES
Initial %
Annual %

Office Equipment



   50

     25


Motor Vehicles


             50

     25



Office Building



    15

     10


Furniture & Fittings



    25

     20


Industrial Building


              15

     10


Non-Industrial Building


     15

     10


Plant and Machinery – Agricultural

   


    

  


     Production
    95

     NIL





  – Others

    50

     25

2.
INVESTMENT ALLOWANCE


   10%

3.
TAX – FREE ALLOWANCE:








Maximum Per Year








            N

Rent





       150,000


Transport




         20,000


Utility





         10,000


Meal Subsidy




           5,000


Entertainment



           6,000


Leave





10% of Annual Basic Salary

4.
PERSONAL INCOME TAX RELIEFS/ALLOWANCES


(a) Personal Allowance
–
N5, 000 plus 20% of Earned Income

(b) Children Allowance
–
N2,500 per annum per unmarried child 







subject to a maximum of four children.

(c) Dependent Relative
–
N2,000 each

(d) Disabled Persons
–
N5,000 or 10% of Earned Income (which 







ever is higher)

(e) Life Assurance 

–
Actual Premium paid

5.
RATES OF PERSONAL INCOME TAX:







Taxable Income
         Rate of Tax







           N


          %


First




       30,000 


          5


Next




       30,000

 
        10


Next




       50,000


        15


Next




       50,000


        20


Over




     160,000


        25

Note: Annual income of N30,000 and below is exempted from tax but a minimum tax of 0.5% will be charged on the total income.

6.
COMPANIES INCOME TAX RATE

30%

7.
EDUCATION TAX



  2% 

8.
CAPITAL GAINS TAX



10%

9.
VALUE ADDED TAX



  5%

10.
WITHHOLDING TAXES
Type of payment

 

Rates

          Rates

                                                                     (Companies)        (Non- corporate)
 


Dividend, Interest, Rent 


  10%


10%


Royalties




  15%


15%


Contract supplies



    5%


5%


Building construction activities

    5%


5%


Consultancy/Professional services

  10%


5%


Management services


  10%


5%


Commissions




  10%


5%


Technical services



  10%


5%


Directors’ fees



  10%


10%

SOLUTIONS TO SECTION A      
PART I:   MULTIPLE-CHOICE QUESTIONS

1.       A
2.       D
3.       C
4.       E
5.       B
6.       C
7.       D
8.       B
9.       B
10.       D
11.       D
12.       C
13.       A
14.       D
15.       C
16.       C
17.       B
18.       A
19.       A
20.       B
EXAMINERS’ REPORT

The questions in this section test all aspects of the syllabus.  Performance was generally above average.  Candidates show a good understanding of the questions.

There were no pitfalls in answering the questions.  

Candidates are advised to read widely in order to perform very well in this area.

PART II:  SHORT-ANSWER QUESTIONS

1. Tax

2. Indirect Tax
3. 11
4. foreign employment
5. Dividend
6. Nigeria

7. Cessation rule
8. 15% of total profit or 25% of tax payable in the year, whichever is higher 

9. 2nd and 3rd
10. 3 years
11. Year of cessation
12. Carried forward loss relief and current year loss relief
13. Franked Investment Income 

14. Indirect Tax
15. Best of Judgment

16. Double taxation relief
17. Part of basis period for the latter assessment year
18. Labels
19. The place where he usually resides
20. Capital allowance

	EXAMINERS’ REPORT




The questions in this section test all aspects of the syllabus.  Candidates demonstrated a good understanding of the questions.

Performance was generally above average.  No serious pitfalls were noticed.

Candidates are advised to read widely in order to perform well in this section.

SOLUTIONS TO SECTION B

QUESTION 1

1.
(a)
Four (4) core objectives of a modern tax systems are:



i.
Revenue generation



ii.
Redistribution of income and wealth


iii.
Economic regulator



iv.
Harmonization


(b)
i.
Ideal Tax System

Adams Smith (1776) proposed that a good tax system should display the following characteristics;

· reflect a person’s ability to pay;

· be certain

· be convenient; and

· be administratively efficient and not cause economic distortion


          ii.
Modern tax system principles still conform with the above and must have the following criteria:

· simple, certain and convenient;

· flexible in terms of structure and rates;

· administratively efficient;

· neutral; and

· equitable both horizontal and vertical 

In conclusion, there is no significant difference between the proposition of Adam Smith (1776) and principles of modern tax system.


(c)
The sources of Nigerian Tax Laws are:



i.
Customary Laws

These are Native Laws and Customs governing the taxation of incomes, goods and properties of persons or communities within an ethnic group.  They also include Islamic Laws which are applicable in the Northern part of Nigeria. Examples are:  Ishakole, Osusu and Zakkat.

ii.
Statute Laws

Statute Laws are tax legislations passed by Acts of the National and State Assemblies and bye-laws of Local Government Authorities in a democratic government or Decrees or Edicts under a Military Government.  The laws vest necessary powers on the tax authorities to impose taxes on individuals, companies, trusts, settlements etc.

Examples are:


i.
The Personal Income Tax Act CAP P8 LFN 2004


ii.
The Companies Income Tax Act CAP C21 LFN 2004 


iii.
The Petroleum Profit Tax Act CAP P13, LFN 2004


iv.
The Education Tax Act CAP E4 LFN 2004


v.
The Value Added Act CAP VI LFN 2004



iii.
Case Laws

Case laws follow the doctrine of stare decisis i.e. judicial precedents. Under the doctrine, judgments pronounced by superior courts of records on principles of tax laws and their interpretations of the provisions of statues are binding on the lower courts.  Examples of superior courts of records are High Courts, Appeal Courts and the Supreme Court.

The principles of English Common Law pronounced by the judges in England and interpreted by them form another source of Nigerian Tax Laws (Aderawos Timbers Trading Co. Ltd. v Federal Board of Inland Revenue (1966) LL.R 195, (1969) ALL NLR 247.

EXAMINERS’ REPORT

This question tests the general understanding of the principles of taxation.

Candidates demonstrated a good knowledge of the question and performance was above average.

The commonest pitfall is the inability of the candidates to differentiate between – Adam Smith classical theory and the modern tax system.

Candidates are advised to pay attention to the general principles of taxation instead of computation alone.

QUESTION 2

(a)   
OKON ADE 
COMPUTATION OF INCOME TAX LIABILITY FOR 2009 ASSESSMENT YEAR
	
	N
	N

	Salary
	
	480,000

	Less:
	
	

	Personal Allowance
	
	

	(5,000 + 20% x 480,000)
	101,000
	

	Children Allowance (Max 4 children)
	10,000
	

	Dependent Relatives
	4,000
	

	Life Assurance
	10,000
	

	Approved Pension Scheme
	6,000
	 (131,000)

	Chargeable Income
	
	N349,000 

	
	
	

	First   30,000 @ 5%
	
	1,500

	Next   30,000 @ 10%
	
	3,000

	Next   50,000 @ 15%
	
	7,500

	Next   50,000 @ 20%
	
	10,000

	Next 189,000 @ 25%
	
	47,250

	      N349,000  
	
	N69,250


(b)       i.
Claimable Children Allowance:  This allowance is available to any tax payer who maintains a child or children in the preceding year under the following conditions:

  
Children allowance can only be approved if:

· the child is under 16 years of age at any time during the year;

· the child is over 16 years provided the child is receiving full-time education and training;  

· the allowance is granted for a maximum of 4 children; 

· the child need not be a biological child; and

· the child must not be married.

ii.
Dependent Relative Allowance is claimable if:

· the relative is either the widowed mother of the individual or his spouse or is incapacitated by old age;

· the relative’s income does not exceed N1,000 in the year of assessment ; and
· where two or more persons maintain such relative, the allowance will be apportioned proportionately between them.
EXAMINERS’ REPORT
This question tests the candidates’ knowledge of the computation of personal income tax and circumstances under which children and dependent relative allowances are graduated.  Many students attempted the question. 

Candidates’ performance was above average.

 The commonest pitfall was the inability of the students to compute correctly reliefs/allowances thereby leading to wrong chargeable income and consequently tax payable.

Candidates are advised to pay special attention to the computation of personal allowances.

QUESTION 3

RICHARD ABDULAI NIGERIA LIMITED

COMPUTATION OF TOTAL PROFIT FOR 2008 YEAR OF ASSESSMENT 






    N  


    N
Assessable Profit





420,000

Deduct:



Unrelieved Capital Allowance b/f 
120,000



Current year capital allowance
190,000


            


310,000



Restricted to 662/3% of N420,000  (280,000)             (280,000)


Unrelieved Capital Allowance        30,000

Total Profit






140,000
Company Income Tax @ 30% of Total Profit

  42,000
Education tax @ 2% of assessable Profit


    8,400
A company is subject to minimum tax if it has been in operation
 

for more than4 years.


MINIMUM TAX COMPUTATION

	A.
	
	N
	N

	(i)
	0.5% of Gross Profit (0.5% x 7,000,000)
	  35,000
	

	(ii)
	0.5% of Net Assets (0.5% x 78,000,000)
	390,000
	

	(iii)
	0.25% of paid up capital (0.25% x 32,000,000)
	  80,000
	

	
	The highest of the above is 
	
	390,000

	
	
	
	

	B.
	Tax on Excess turnover N500,000 @ 0.125%
	
	

	
	
	
	

	
	
	
	

	
	i.e. (40,000,000 – 500,000) @ 0.125%
	
	  49,375

	
	Minimum Tax Payable is A + B
	
	439,375


Conclusion:

Since minimum tax payable is higher than tax computed above, the amount of the tax to be paid by Richard Abdullahi Nig. Ltd. will be N439,375.

EXAMINERS’ REPORT

The question tests candidates’ knowledge of companies’ income tax and computation of minimum tax.

Candidates demonstrated good understanding of the question and performance was good.

The commonest pitfalls are the inability of candidates’ to restrict the utilization of capital allowance to 662/3% of assessable profit and wrong computation of minimum tax.

Candidates are advised to pay attention to the computation of capital allowances and minimum tax.

QUESTION 4

(a)    CONTENT OF A NOTICE OF APPEAL AGAINST VAT ASSESSMENT
Notice of appeal against a VAT assessment must contain the following information:


i.
the name and address of the taxable person
;

           ii.
the total amount of goods and services chargeable to tax in respect of each month;

           iii.
any input tax;

           iv.
the net amount of tax payable; and

           v.
the precise grounds of appeal.










 (b)     TYPES OF VAT
            The three variants of VAT are:

          i.
The Gross Products Variant
This allows deductions for all purchases of raw materials and components.  Tax is levied on all sales, with no deduction for business inputs.  No deduction is made for capital goods, such as, plant and machinery and depreciation. 


ii.
The Income Tax Variant
This allows deductions for purchases of raw materials and components plus depreciation on capital goods.  The economic base of income variant is the Net National Product, that is, net investment (gross investment minus depreciation) is taxed.


iii.
The Consumption Variant
With the consumption variant of VAT, the economic base is equivalent to total private consumption.  Here, deductions are made for all business purchases and  

capital assets of all the three variants of VAT.  The consumption variant is popular and widely used by many countries, including Nigeria.

(c)
COMPUTER ASSISTED TAX PLANNING

i.
Logical test



It is an expression that evaluates to either TRUE OR FALSE.


ii.
Value if true

This is the value that is returned if logical test evaluates to TRUE.  It can also be another formula.

iii.
Value if false

This is the value that is returned if logical test evaluates to FALSE.  It can be another formula.

EXAMINERS’ REPORT

The question tests the candidates’ knowledge of the principles of Value Added Tax.  
Candidates demonstrate a fair knowledge of these areas and performance was above average. Candidates performed well in the “a” and “b” parts while performance was very poor in part “c”.  
The commonest pitfall was the candidates’ display of insufficient knowledge of part “c” of the question.

Candidates are advised to pay attention to the entire content of the syllabus.

QUESTION 5

(a)
PEN, PENCIL & MARKER (IN PARTNERSHIP)

Year of cessation is 2009 when a partner retired.


COMPUTATION OF ASSESSABLE INCOME

	
	Pen
	Pencil
	Marker
	Eraser

	
	N
	N
	N
	N

	Salary (5 months)
	225,000
	360,000
	270,000
	157,500

	Interest @ 10% per annum
	9,375
	45,000
	31,500
	14,700

	Share of Profit
	600,000
	990,000
	495,000
	840,000

	Partners’ Income
	834,375
	1,395,000
	796,500
	1,012,200

	Basis Period of Partners
	1/1/09 – 31/5/09
	1/1/08 – 31/12/08
	1/1/08 – 31/12/08
	1/6/07 – 1/6/07

	
	(Actual)
	(PYB)
	(PYB)
	(Actual)

	Notes
	(i)
	(iii)
	(iii)
	(i)


i.
Pen is assumed to have ceased business on 31/5/2009 since he retired the following day when a new partner Eraser was admitted.  The basis period on cessation will be for the first 5 months of operation i.e. 1/1/2009 – 31/5/2009.  His income from the partnership will be as follows:










    N


Salary – 1/1/2009 – 31/5/2009 (i.e. 5/12 x 540,000/1)  
225,000

Interest on capital (10% x 225,000 x 5/12)


    9,375

Share of Actual profit for the year ended 31/12/2009





(2/5 x 3,600,000 x 5/12)
600,000
The Revenue Board may revise Pen’s assessment to preceding year basis if the revision will produce a higher assessable income than the normal actual basis.

ii.
Commencement rule will apply to Eraser

Since he was admitted on 1/6/2009, the assessable income will be for a period of 1/6/2009 and 31/12/2009 as follows:









    N

 
Salary – (7/12 x 270,000/1 )




157,500

Interest @ 10% per annum (10% x 252,000/1 x 7/12)

   14,700

Share of profit (N3,600,000 x 7/12 x 2/5)


840,000

iii.
Since both Pencil and Marker are continuing partners, profit from partnership business will be based on preceding year basis i.e. profit for the year ended 31st December 2008.

	

	N

	Adjusted profit for the year ended 31/12/08
	2,475,000

	Share of profit
	

	Pen – 2/5 x 2,475,000
    -
	    990,000

	Pencil  - 2/5 x 2,475,000
  -
	    990,000

	Marker - 1/5 x 2,475,000
-
	    495,000

	
	 2,475,000


Note:
Pen’s share of N990,000 is higher than the actual profit shared based on cessation rule.  Pen’s share of N990,000 may therefore be assessed to tax instead of the actual figure that produced lower assessable profit.

(b)
HOW GAINS OR PROFITS FROM A PARTNERSHIP INCOME WILL BE DETERMINED

The income of a partner from a partnership business shall be deemed to be derived from the territory of the relevant tax authority in relation to that partnership.

The gains or profits from a partnership of a partner therein shall be the sum of:

(a)
Any remuneration, interest on capital, or the cost of passages to or from Nigeria, wholly or mainly undertaken for the purpose of leave or recreation, which is charged in the partnership accounts in respect of that partner; and 

(b)
His share in the income of partnership, after the deduction of charges, to which paragraph (a) above applies in respect of all partners, but before deduction of any other expenses of the partnership, referable to a partner, which would have been private or domestic expenditure, if incurred directly by that partner. 


EXAMINERS’ REPORT

The question tests candidates’ knowledge of the assessment of partners in partnership.  Not many students attempted the question and performance was below average.

The commonest pitfall is the inability of the candidates to apply cessation and commencement rules when partners retire or join a partnership business.

Candidates are advised to pay special attention to these areas.  

QUESTION 6

OSHODI OKE LIMITED 
YEAR OF CHANGE 2005

COMPUTATION OF ASSESSABLE PROFITS BASED ON OLD AND NEW ACCOUNTING RATES

	
	N                
	
	
	
	

	
	OLD BASIS
	
	NEW BASIS

	
	
	
	
	
	

	Year 
	Basis Period
	Amount
	Year
	Basis Period
	 Amount

	
	
	N
	
	
	N

	2005
	1/7/2003 – 30/6/04
	400,000
	2005
	1/1/2004 31/12/04
	

	2006
	1/7/2004 – 30/6/05
	
	
	(6/12 x 400,000 +6/18 x 525,000/1)
	     375,000

	
	
	
	
	
	

	
	(12/18 x 525,000)
	350,000
	2006
	1/1/2005 – 3/12/2005
	

	
	
	
	
	 ( 12/18 x 525,000/1)
	      350,000

	2007
	1/7/2005 – 30/6/06
	
	2007
	1/1/2006 – 3/12/2006
	      450,000

	
	(6/18 x 525,000/1+6/12 x 450,000/1 )  
	400,000
	
	
	

	
	
	1,150,000
	
	
	1,175,000


CONCLUSION:  
Since the new date will result into higher assessable profit of N1,175,000 the Revenue Board will assess Oshodi Oke Limited Sbased on the new accounting date.

(b)                                             
BASES OF ASSESSMENT

(i)
Subsisting Business

For a subsisting business, the basis of assessment shall be on the performance of the last year (preceding year) basis and it is only applicable where a company has been in business for some years and there is no change of accounting date or cessation.


(ii)
Commencement of Business

The rules for ascertaining the assessable profits of a company from a new trade or business are as follows:



Assessment Year

Basis Period of Assessment

1st  Year
Assessable profit is the actual profit, from the date of commencement of business to 31 December of the same year.

2nd Year
Assessable profit of the period of first twelve (12) months from the date of commencement.

3rd Year
Assessable profit is the profit of a twelve months  (normal) accounting period ended in the preceding year of assessment.  Where the accounting period ended in the preceding year is less than 12 months FIRS will require that the basis period of 2nd year of assessment be used.


(iii)
Change of Accounting Date

Whenever a company fails to make up its accounts to its normal year-end, for the year of assessment in which that failure occurs as well as the following two years, the assessable profits of the company are computed on such basis as the Board in its discretion may decide.  

 

The discretion is to identify the year of change and;

· compute assessable profits based on the old accounting date for the year of change and the following two years.

· Compare both results by identifying the accounting date that will produce higher assessable profits.

· FIRS will assess based on the one that produces the higher assessable profits.

(iv)
CESSATION OF BUSINESS
In cessation of business, consideration is usually given to the year of discontinuance of business (ultimate year) and the penultimate year (the immediate preceding year of assessment in which the company ceases) as follows:

Year of Assessment


Basis Period of Assessment
Ultimate year (year of cessation)
Actual profit for the year of cessation (Jan 1 – Date of cessation).

Penultimate year
Higher of the assessable profits based on:


(a)
Actual basis and 


(b)
Preceding year basis





EXAMINERS’ REPORT



The question tests the candidates’ knowledge of the computation of tax payers’ assessment in abnormal basis periods.

Candidates demonstrated good understanding of the question and performance was above average.

Many candidates could not determine the year of change thus leading to wrong assessments.

Candidates can improve on their understanding of the abnormal basis periods by practicing past questions and answers in this area.
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    EXAMINATION NO...............................
THE INSTITUTE OF CHARTERED ACCOUNTANTS OF NIGERIA

INTERMEDIATE EXAMINATION - MAY 2011

BUSINESS COMMUNICATION AND RESEARCH METHODOLOGY

Time allowed-3 hours

SECTION A:  Attempt all questions

PART I   MULTIPLE-CHOICE QUESTIONS 



         (20 Marks)

1.   Which of the following errors occurs when a true Null hypothesis is rejected?
A. Type I error
B. Type II error
C. Statistical error
D. Type II and Type I errors
E. Significant error
2. The method of administering a survey that involves mailing copies of questionnaire to participants is known as 

A. 
Sample Survey.
B. 
Personal Interview.
C. 
Mail Survey.
D. 
Focus Group.
E. 
Survey Interview.
3. A measurement scale in which cases are ordered along some dimensions is known as……………Scale.

A. 
Ratio
B. 
Interval
C. 
Nominal 
D. 
Ordinal 
E. 
Cardinal
4. Which of the following describes the method of assessing reliability of a questionnaire by splitting it into two parts and responses from the two parts are correlated? 

A. 
Guttman Spearman
B. 
Crombach Alpha
C. 
Half-Split
D. 
Spearman’s Brown
E. 
Half Splitting Criterion
5. Which of the following cannot be used for generating research topic?
A. Searching the literature
B. 
Brainstorming
C. 
Past project reports
D. 
Practical experiences
E. 
Research objectives
6.  Which of the following is not a source of materials for literature review?

A. Journals
B. Textbooks
C. Internet
D. Magazines
E. Citations
7. Which of the following is an example of probability sampling?
A. 
Quota
B. 
Judgment
C. 
Accidental 
D. 
Panel
E. 
Cluster
8. Policy Implications and recommendations in research report are mostly based on

A. 
result of data analysis.
B. 
theoretical review.
C. 
statement of problem.
D. 
statement of hypotheses.
E. 
problem identification.
9.   In probability sampling each item in the population has

A. 
a chance of being selected.
B. 
the same chance of being selected.
C. 
a 50 percent chance of being selected.
D. 
no chance of being selected.
E. 
a stratified chance of being selected.
10. Which of the following is the process of making an estimate, prediction, or decision about a population based on sample data?

A. 
Confidence level
B. 
Significance level
C. 
Descriptive process
D. 
Inference process
E. 
Discussion process
11. The statistics that allows one to summarize the properties of an entire distribution of data with just a few numbers is referred to as…………Statistics. 

A. 
inferential 
B. 
deductive
C. 
inductive 
D. 
probabilistic
E. 
descriptive 
12. Which of the following explains the process of editorial review used by referred journals in which manuscripts are usually sent out to at least two reviewers who screen the research for quality and importance?

A. 
Academic review
B. 
Pair review
C. 
Paper review
D. 
Journal review
E. 
Peer review
13.
What is the shape of a frequency distribution with an arithmetic mean of 12,000, a median of 12,000 and a mode of 12,000?
A. Negatively skewed
B. Symmetric
C. Geometrically skewed 
D. Positively skewed
E. Kurtosis
 14.
Which of the following does NOT describe a language function?
A. Informative
B. Referential
C. Relational  
D. Expressive
E. Persuasive
15.
Words are often classified in the following terms EXCEPT
A. collocative.
B. formal.
C. informal.
D. concrete.
E. abstract.
16.
The following are attributes of non-verbal communication EXCEPT that it
A. reinforces verbal communication.
B. provides further information about the speaker.
C. saves time and expense.
D. it can easily be misunderstood.
E. all can be sent through non-verbal communication.
17.
The past tense of “wring” is
A. 
wringed.
B. 
wrang.
C. 
wrong. 

D. 
wrung.
E. 
wring.
18.
Which of the following is not part of agenda items?
A. 
Minutes of previous meeting
B. 
Matters arising 

C. 
Memorandum
D. 
Business of the day
E. 
Any other business
19.
To help the receiver understand the message, the sender must use.....words.
A. 
familiar
B. 
concrete
C. 
nonce
D. 
short 
E. 
single 
20.
Which of the following words means “merchandise”?
A. 
Wear 
B. 
Were 
C. 
Ware
D. 
Where
E. 
Wire

PART II:   SHORT-ANSWER QUESTIONS 



       (20 MARKS)

1. A graph on which data from group of subjects are represented by bars of differing heights that are tied to the value of the dependent variable for the group is……………………………

2.  A table displaying a set of values or range of values of a variable, together with the frequency of each, is known as………………………

3.  The collection of all possible individuals making up a group of interest in a study is known as…………………………….

4. The mean absolute deviation of the numbers 2, 4, 6, 8, 10 is ………………………

5.  The vehicle through which thoughts, ideas and feelings are shared is known as…………..

6.  Without a …………….., non-verbal communication is meaningless.

7. Another word for “destination” in the communication process is……………….
8. A slight pause used to separate items in a sentence is a…………………..
9. The rules in a language for changing word forms and joining them into sentences are called………………………..
10. A verb which does not require an object is called………………….. 
11. The man who came in last is the boss.  The underlined expression is a/an……………..clause.
12. An unit that can be used if the principal unit fails is known as…………………

13. A sample that is not a representative of the population from which it was taken is.......................................
14. A relationship in which the value of one variable changes systematically with the value of a second variable is said to be...........................

15. A theory that explains a relationship using relatively few assumptions is......................
16. The reasoning that goes from the general to the specific and from the foundation of the rational method of inquiry is known as.......................
17. A data collection instrument in which each person is asked to respond to the same set of questions in a predetermined order is called a.......................
18.  A research that is undertaken after the events have taken place and the data   are already in existence is known as………………….
19. The aspect of a research study that gives a reader a clear and precise idea of    what the study is all about is ……………………….
20. The measuring scale that has the attributes of unique origin, specified distance   and order is called………………………
SECTION B:  ATTEMPT ANY FOUR QUESTIONS 


          (60 Marks) 

QUESTION 1

(a)
Explain the following types of errors:


(i)
sampling error





      (3 Marks)


(ii)
non-sampling error





      (3 Marks)

(b)
List and explain briefly THREE types of non-sampling error       (9 Marks)











      (Total 15 Marks)

QUESTION 2
Explain briefly the following concepts with examples:

(a)
Facial expressions







      (3 Marks)

(b)
Paralanguage







      (3 Marks)

(c)
Eye contact








      (3 Marks)

(d)
Gestures








      (3 Marks)

(e)
Proxemics








      (3 Marks) 









      (Total 15 Marks)               

QUESTION 3
A financial investment firm wishes to know if there is a relationship between the State of Residence and an individual’s saving strategy regarding whether or not they invest in stocks. The following information was collected by telephone contact on the number of people in selected States on whether or not they used the stock market as their investment strategy:

	
	                   States

	Savings strategy
	   A
	  B
	   C
	  D

	Invest in stock
	  21
	  12
	  15  
	  15

	Do not invest in stock
	  13
	  12
	  14
	  14


Required:
(a)
State the appropriate Null hypothesis and Alternative hypothesis for this situation if it is desired to test if there is a relationship between savings strategy and State of Residence.






      (2 Marks)

(b)
Using the critical value of 11.34 of the chi-square test at 1% significance level, does it appear that there is a relationship between investing in stocks and the State of Residence?



   



    (12 Marks)

(c)
Using the critical value of 7.814 of the chi-square test at 5% significance level, does it appear that there is a relationship between investing in stocks and the State of Residence?



                         

       (1 Mark)










  
      (Total 15 Marks)

QUESTION 4

In each of the following sentences, one word is wrongly used.  Identify the wrong word and provide the correct one.

(a)
Let you and I go together.

(b)
If I were him, I should not go.

(c)
This year’s Presidential election is one of the most remarkable events that has happened this decade.

(d)
John was a boy whom we all expected would pass.

(e)
Each person who comes will have their own say.

(f)
Have either of you seen my bag?

(g)
One is proud of his own achievement.

(h)
I have picked a basket of apples, but none are ripe.

(i)
Consider pair review in your research methodology.

(j)
Neither you nor I are likely to go.

(k)
He has been more successful than me.

(l)
He bought me a pear of shoes.

(m)
You must forbid him eating apples.

(n)
This hat is the best of the two.

(o)
I should be glad if you will reply without delay.


    (15 Marks)
QUESTION 5
(a)  
List any FIVE items in the preliminary pages of a research report in order of          their appearance.







      (5 Marks)

(b)     Explain briefly any FOUR of the items listed in (a) above.

    (10 Marks)











      (Total 15 Marks)
QUESTION 6

(a)
Define ‘Measurement’






      (3 Marks)

(b)
Explain briefly each of the following scales of measurement:


(i)
Nominal 


(ii)
Ordinal 


(iii)
Interval 


(iv)
Ratio 






                       (12 Marks)











      (Total 15 Marks)

SOLUTIONS TO SECTION A

PART I
 - MULTIPLE CHOICE QUESTIONS

1.
A
2.
C
3.
D
4.
C
5.
E
6.
E
7.
E
8.
A
9.
B
10.
D

11.
E

12.
E

13.
B

14.
D

15.
A

16.
E

17.
D

18.
C

19.
A

20.
C
EXAMINER’S REPORT

The questions were drawn from all the three sections of the syllabus.  The questions 

test simple concepts and principles involved in Research Methodology, Statistics and 

Business Communication. About 70% of the candidates performed well in this part of the paper.  
The major pitfall was inadequate understanding of the concepts and principles tested. 
Candidates should ensure that they cover the entire syllabus in order to perform better in subsequent examinations.

PART II – SHORT-ANSWER QUESTIONS
1.
multiple bar chart or bar chart or component bar chart.
2.
frequency distribution/frequency table 

3.
population 
4.
2.4
5.
communication or language

6.
language
7.
receiver or decoder or listener
8.
comma
9.
grammar

10.
intransitive
11.
relative or subordinate or adjectival or dependent
12.
backup
13.
biased 
14.
correlated
15.
parsimonious
16.
deductive (reasoning)

17.
questionnaire
18.
ex-post-facto
19.
abstract/executive summary/summary
20.
ratio
Workings: Question 4
Mean=                                                         2+4+6+8+10 = 30 =6     
                                                                            5                5
Absolute sum of deviations from the mean = |(2-6)+(4+6)+(6+6)+(8+6)+(6-10)|=
                                                                       4+2+0+2+4=12                                                     

Mean absolute deviation =                                12 =  2.4                                                                







             5

EXAMINER’S REPORT

The questions were drawn from all the three sections of the syllabus.  Candidates are 

expected to recall key word or phrase as answer to complete the sense in each of the 
items. The performance of the candidates was fair.  Most of the candidates were 
unable to recall exact word or phrase required to answer each question.  
Candidates are advised to familiarize themselves with the entire syllabus to improve 
their performance in subsequent examinations.
SECTION B



SOLUTION TO QUESTION 1

(a) i.
Sampling Error:

This occurs when there is inconsistency in two or more stages of sampling method that results from observations made. It causes an usual difference between the selected samples and its population.  Sample error can also occur when statements are made about a population based on the observation in a sample selection.

  ii.
Non-Sampling Error:


This occurs as a result of mistakes made in the acquisition of data or due to inappropriate observations of selected samples.

b.
Types of Non-Sampling Error


(i)
Error in data acquisition


(ii)
Non-response error


(iii)
Selection bias


(iv)
Specification or construct error


(v)
Frame error


(vi)
Processing error

(i)
Error in Data Acquisition:


This error arises from recording incorrect responses which may result from judgement reached or measurements taken. It could also result from inaccurate transcription from primary source or inaccurate recording of data.

(ii)
Non-response Error:


This is the error introduced when responses are not given or obtained from some members of the sample selected.  When this happens, the result collected may not be representative of the target population thus, resulting in biased result.

(iii)
Selection Bias:


This error occurs when the sampling plan excludes some members of the target population as a result of bias.  This may result from favoritism or merely being judgetmental about a member of the sample.

(iv)
Specification or Construct Error: 


This error occurs when there is misinterpretation of the concept implied in the questions raised or the underlying construct that should be measured. When items in the questionnaire is ambiguous, then responses become distorted.

(v)
Frame Error:


This error occurs when certain units/elements that should be included in the frame are left out or not represented.  Where this occurs, selection of samples (using such units or elements) may be duplicated, thus, resulting in over-coverage of population sample.  When some units/elements that should be included are not represented, it could result in undercoverage of the sample.

(vi)
Processing Error:


This error occurs when there is an error in the data processing stages such as during editing of items, entrying of data, coding or decoding responses in open-ended items and analysis of data.

EXAMINER’S REPORT

The question tests types of errors in Research Methodology.  About 40% of the 

candidates attempted the question.  The performance was fair.  Candidates did not 

understand the demand of the question because they were discussing methods of 

sampling error rather than types.  
Candidates should study the section of the syllabus dealing with sampling and non-
sampling errors.

QUESTION 2

(a)
Facial Expressions:  These are used in non-verbal communication to pass 

information without the use of the vocal cords.  Facial expressions include a smile, a frown, a grimace, a nod, etc.  A smile suggests keen interest in the message; a frown indicates a query; a grimace shows disgust or pain; a nod shows approval.

(b)
Paralanguage:  This is communication based on vocal but non-verbal utterances.  Examples of paralanguage include

i. pitch which has to do with low or high intonation;

ii. tone and quality of sound;

iii.  volume or intensity of sound for example a whisper, a scream or a shout.

(c)
Eye Contact:  This is the focus a speaker gives his audience by making his eyes rove over the gathering.   This allows the speaker to concentrate on his audience and monitor their reaction to his speech.  Eye contact gives immediate feedback from the audience to the speaker.

(d)
Gestures:  These involve the use of arms, fingers and fists in emphasizing or reinforcing the message being delivered.  A wide sweep of arms shows size and expanse.  Gestures must be meaningfully employed.

(e)
Proxemics:  This is the study of set measurable distances between people as they interact.  There are three types of space:

(i)       Fixed-feature space - comprising of things that are immobile such as walls    and territorial boundaries;

       (ii)     Semifixed-feature space - comprising of movable objects like mobile v

   furniture;

      (iii)     Informal space - comprising of individual space which determines personal                          
distance among people.  In non-verbal communication, personal distance varies from culture to culture.
EXAMINER’S REPORT

The question tests candidates’ knowledge of concepts in non-verbal communication.  

About 90% of the candidates attempted the question.  The performance was fair.  The 

common pitfall was that the candidates mixed up the concepts.  
Candidates are advised to study hard in order to be able to distinguish between concepts.

QUESTION 3
 (a)
Null Hypothesis (Ho): There is no relationship between State of Residence and individual’s saving strategy.


                                             or


Ho:  The State of Residence is independent of the individual’s saving strategy.


Alternative Hypothesis (Hi):  There is a relationship between State of Residence and individual’s saving strategy.








or


Hi:  The State of Residence is dependent on the individual’s saving strategy.
        Chi-Square


Decision rule:    Let X2 = X2
  where df = degree of freedom and e = level of 





(df,e)   cal significance.



Reject Ho if. X2cal> X2tab

[image: image99.wmf]


Accept Ho if X2cal< X2tab
                                      


X2 formula
[image: image100.wmf]: 
[image: image101.wmf]X2 = ∑  (fi - ei)2       

                                                 ei
     where fi = observed frequency

              ei = expected frequency  

    (b)    ei  =  Row total x column total

              Grand total (sample size)

      
e11 =  63 x 34  =  18.5

e14  =  63 x 29  =  15.8


       
   116                                               116

    
 e12  =  63  x 24  =  13

e21  =  53  x  34  =  15.5

                         116                                               116

     
e13  =   63 x 29  =  15.8

e22 =   53 x 24  = 11.0

                         116                                              116

    
e23  =   53 x 29  =  13.2

                         116

  
 e24 =   53 x 29  =  13.2


                         116


X2 = ∑   (fi - ei)2   =  (21 -  18.5)2  + (12-13)2 + (15-15.8)2 +


                 ei                  18.5                 13             15.8    

                           (13 15.5)2 + (12 – 11)2 + (14 – 13.2)2 + (14-13.2)2
15.5              11                 13.2               13.2

   X2cal   = 1.09

Decision:

Since X2cal (1.09) is less than X2tab (11.34),

                 
the Null Hypothesis cannot be rejected.

Conclusion:   At 1% significance level or 99% level of confidence, there is no relationship between investing in stocks and the State of Residence.

   (c)
Decision: Since X2cal (1.09) is less than X2tab (7.84) 

The Null Hypothesis cannot be rejected.

Conclusion:  At 5% significance level or 95% confidence level, there is no relationship between investing in stock and the state of residence.  Or the state of residence is independent of an individual’s saving strategy.
EXAMINER’S REPORT

The question tests candidates’ understanding and application of Chi-square distribution.  About 95% of the candidates attempted the question.  The performance was good.  The common pitfall was candidates’ inability to state relevant hypotheses. Candidates are advised to understand the principles and procedures of Chi-square hypothesis testing techniques.

QUESTION 4

	
	Wrong word
	Correct word

	a
	I
	me

	b
	Him
	he

	c
	Has
	have

	d
	Whom
	who

	e
	Their
	his/her

	f
	Have
	has

	g
	His
	one’s

	h
	Are
	is

	i
	Pair
	peer

	j
	Are
	is

	k
	Me
	I

	l
	Pear
	pair

	m
	Him
	his

	n
	Best
	better

	o
	Will
	would


EXAMINER’S REPORT

The question tests candidates’ ability to recognise common errors in English 

Language. About 90% of the candidates attempted the question.  The performance was 

fair.  The common pitfall was the inability of candidates to understand theories for 
determining common errors in English.  
Candidates are advised to familiarize themselves with theories like rules of concord, 
tenses, word classes, among others.

QUESTION 5
(a)  

(i)
Title page

     
(ii)
Certification

   
(iii)
Dedication

    
(iv)
Acknowledgement

     
(v)
Abstract


(vi)
Table of contents

(b)

(i)
Title Page:  This includes the title of the study which is stated at the top of the page.  It could be at the top left side or the middle of the page.  It shows, at a glance, the concepts, variables and focus of the report.  The author’s name follows the title.


At the lower half, the Department, Faculty or the Agency the report is being submitted to and the period of submission (which could be month and year) are all stated.

(ii)
Certification Page: This page makes provision for the signatures of members of the report committee or the supervisor(s), the Head of Department and the Dean. In academic research report, some Departments or Faculties insist that the name of the author comes first while the name of the External Examiner is also included.
(iii)
Dedication Page: In this page, the author expresses his gratitude to those he holds dear and who, in one way or the other, have been of immense help to him in life, especially his being alive to carry out the research.

(iv)
Acknowledgement Page:  This page is devoted to gratitude.  Here the researcher/author expresses his gratitude to those who contributed meaningfully to the successful completion of the study.  These could include the supervisor, those that made materials available, lecturers, friends, parent and all those who contribute financially.

(v)
Abstract Page:  On this page, the researcher gives the summary of the entire work.  It gives readers a clear and precise idea of work the report is all about, the problem investigated, how it was carried out (methodology), what the findings were and some of the recommendations.  Abstract is usually short given in at about 250 words.  It may or may not be in paragraphs.

(vi)
Table of contents:  This includes all the items that appear in the research report. It also includes the pages where they are found for easy reference.

EXAMINER’S REPORT

The question tests parts of a research report and their sequence.  About 80% of the 

Candidates attempted the question.  The performance was poor.  The common pitfall 

was that candidates were not able to put the parts in the  correct order, although they 

could list them. Again, majority of them did not know what these parts entail.  

Candidates are advised to study and understand the parts of research report as 

these follow system theory where one part depends on the other.

QUESTION 6

(a)
Measurement:  This is the process of assigning numerical values to qualitative objects or events using specified rules. This is done to quantify the qualitative variables for the purpose of empirical analysis.

(b)i.
Nominal Scale:  This is a measurement scale that involves categorizing cases into two or more distinct categories.  The scale has no origin, no order and no distance.  In a nominal scale, the values have different labels but no ordering of the values is implied.  Religion, sex and race are examples of nominal scales.

(ii)
Ordinal Scale:  This is a measurement scale in which cases are ordered along some dimensions.  For instance, small, medium or large.  The distance between scale values are unknown, that is, ordinal scale has order but no distance or origin.  It is commonly used in marketing and attitudinal research.  It is used for rating or ranking activities.

(iii)
Interval Scale:  This is a measurement scale with both order and distance but no origin.  The spacing between values along the scale is known.  Interval scale can lend itself to various statistical manipulations and analysis.  The fahrenheit scale is an example of interval scale.

(iv)
Ratio Scale:  This is the highest and the most powerful scale of measurement.  This measurement scale has all the characteristics of the first three (nominal, ordinal, and interval) scales, in addition to absolute zero point.  The zero point in a ratio scale does not indicate the absence of the quality being measured.


Ratio scale defines all elements in a population as 100% or unity and this allows for statistical manipulation for useful results.  In addition, ratio scale can be useful results.  In addition, ratio scale can be used in all statistical analysis and makes it the most powerful scale in research.

EXAMINER’S REPORT

The question tests the concept of measurement in Research Methodology and 
Statistics.  About 90% of candidates attempted the question.  The performance was 
fair.  The common pitfall was the inability of the candidates to determine what the 
various types of measurement scale entail and their functions. 
Candidates are advised to study and understand the various types of measurement 
scales and their features.

NOTES





Although these suggested solutions have been published under the Institute’s name, they do not represent the views of the Council of the Institute.  The suggested solutions are entirely the responsibility of their authors and the Institute will not enter into any correspondence on them.
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